THE WINNING EDGE

—— DEFENCE ——

THE WINNING EDGE DEFENCE ACADEMY (WEDA)
RASHTRIYA MILITARY SCHOOL, CLASS —9™"
SOLUTION (2023)

Time: 2 Hrs 30 Min

99 2 5 30 fee
Sections / SITHATT l Questions / T | Maximum Marks / StTE=a i

PART - |

Section-A: English / 335t 50 50

Section-B: Hindi / f&<r 20 20

Section-C: Social Science / HTHTIIR =T+ 30 30
PART - 1l

Section-D: Mathematics / o 50 50

Section-E: Science / =TT 50 50

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.
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correct answers.

The last blank pages of the question paper are meant for Rough Work.
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can be carried along with by the candidates in the competition for the exam.

THT 7 Fgfased 17 3 o a7 Aary T aeqas TH F &

FTE TRTLTCHS o gl 2|

Y off wor e srequar & Rufa § st gewor &y iy qmr ST

FIAT Tl I 6 ATET AT T T TLE T FIAT FHA & (U FHIA/A A FieT qiee IF F STTR
T

T % SHTAH GTAT T TF T o 17 i 2l

FVIAT AT g Teh AT FHIAT HLAT I TS Teh & T AT DI H1AT HAT 9T § qT 30 ToAd
ST HIAT SATTATI

FIAT TEHEAT THATH B 6 AT IAL TEART TIAAEF I ATl &1 TAT % o qiaatiar § srerft
ST IETHT A o ST Tl 2

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE ——

PART - |

SECTION ‘A’ — ENGLISH

Direction: Choose the words that are nearest
in meaning to the bold & underlined word (s)

1. The country has a potential to exploit more
mineral resources.

a. fortune b. hidden possibility
C. capacity d. good luck
Explanation: Potential — have the necessary

abilities or qualities to become successful or
useful in the future.

The word nearest in meaning is ‘hidden

possibility’

2. Seeing the room in a disorderly state, Ravi
concluded that someone had ransacked the
place.

b. viewed
d. visited

a. upset
c. destroyed

Explanation: Ransacked — to search a place or
container in a violent and careless way

The word nearest in meaning is ‘destroyed’
3. Grandfather has been getting feeble off late.

b weak
d. small

a. tall
c. diseased

Explanation: Feeble — not strong enough to
endure strain, pressure, or strenuous effort

Diseased — dead
The word nearest in meaning is ‘weak’

4. A feeling of brotherhood should be nurtured
in the masses.

b. brought up
d. encouraged

a. brought out
c. admired

Explanation: Nurtured - to look after and
protect somebody/something it is growing and
developing

Bring up — To raise a child

Bring out - produce and launch a new product
or publication or make something more evident
The word nearest in meaning is ‘brought up’

5. | tried to persuade him to change his mind,
but he remained adamant.

b. stubborn
d. defensive

a. fixed
C. aggressive

Explanation: Adamant — very sure; refusing to
change your mind

Stubborn — not wanting to do what other
people want you to do

Aggressive — ready or likely to fight or argue
Defensive — that protects somebody/something
from attack

The word nearest in meaning is ‘stubborn’

Directions (Qs. No. 6 to 10): In the following
questions, a sentence has been given in Direct/
Indirect speech. Out of the four alternatives
suggested, select the one which best expresses
the same sentence in Direct/Indirect speech.

6. He said, "Where are you going?"

a. He said that where | was going.
b. He asked where | was going.

c. He told that he was going.

d. He says that where | was going.

Explanation: Change in tense:

The sentence is in present continuous tense in
direct speech ("are going"), which changes to
past continuous tense in indirect speech ("was
going").

Change in reporting verb

Since it's a question, the reporting verb "said"
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changes to "asked."

Change in pronoun

The pronoun "you" changes according to the
object. Here, it becomes "I."

The correct answer is ‘He asked where | was

going.’
7. He said to him, "You may go."

a. He told me to go.

b. He told that he would go.
c. | told him that he might go.
d. He said to me to go.

Explanation: Change in tense:

The modal "may" in direct speech changes to its
past form "might" in indirect speech.

Change in reporting verb

Since it's a statement, the reporting verb "said
to" changes to "told."

Change in pronoun

The pronoun "you" changes according to the
object, becoming "he."

The correct answer is ‘I told him that he might

’

go.
8. Anjali says. "She is reading".

a. Anjali said that she was reading.

b. Anjali says that she is reading.

c. Anjali says that she had been reading.
d. Anjali says that she will be reading.

Explanation: No change in tense

Since the reporting verb is in present tense
("says"), the tense in the reported speech does
not change.

Change in pronoun

The pronoun "she" remains the same as it
refers to the same person.

The correct answer is ‘Anjali says that she is
reading.’

9. He said. "Suresh is unwell."

a. He said that Suresh is unwell.

b. He told that Suresh was unwell.

c. He said that Suresh was unwell.

d. He said that Suresh had been unwell.

Explanation: Change in tense

The sentence is in present continuous tense ("is
unwell") in direct speech, which changes to past
continuous tense ("was unwell") in indirect
speech as the reporting verb ("said") is in past
tense.

The correct answer is ‘He said that Suresh was
unwell.’

10. Deepak said to his friend," Work hard."

a. Deepak told his friend to work hard.

b. Deepak advised his friends for hard work.
c. Deepak advised his friend for working hard.
d. Deepak advised his friend to work hard.

Explanation: Change in reporting verb

Since the sentence gives advice, the reporting
verb "said to" changes to "advised."

Change in structure

Since the sentence is imperative, while
changing in indirect speech verb will be
changed to ‘to +V1'.

The correct answer is ‘Deepak advised his friend
to work hard.’

Directions: In each of the following questions,
out of the given alternatives, choose the one
which best expresses the given word.

11. CROFTER

a. fortress
c. insane

b. priest
d. farmer

Explanation: Crofter — someone who lives and
works in a a very small farm

Insane — crazy or mentally ill

The correct answer is ‘farmer’

12. DEFUNCT

b. clever
d. extinct

a. active
c. alive

Explanation: Defunct — no longer existing or in
use
The correct answer is ‘extinct’
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13. LEWDNESS

a. recession
c. depression

b. indecency
d. bliss

Explanation: Lewdness — the state of being
obscene or indecent

Recession — a period when the business and
industry of a country is not successful

Indecency — lack of decency

Bliss — happiness

The correct answer is ‘indecency’

14. ANGST
a. anxiety b. pride
c. modesty d. simplicity

Explanation: Angst — a feeling of anxiety and
worry about a situation or about your life
Modesty — correct or socially acceptable
behavior

The correct answer is ‘anxiety’

15. SAGACITY
a. morality b. wisdom
C. sanity d. uprightness

Explanation: Sagacity — Wisdom

Morality — principles concerning what is good
and bad or right and wrong behaviour

Wisdom — the ability to make sensible decisions
Sanity — the state of having a normal healthy
mind Uprightness —

The correct answer is ‘wisdom’

Directions: Select one correct word for the
statements given below:

16. One who totally abstains from alcoholic
drinks

b. pedant
d. puritan

a. inebriate
c. teetotaler

Explanation: Inebriate — make (someone) drunk
Pedant — a person who is excessively concerned
with minor details and rules or with displaying

academic learning.

Teetotaler — a person who does not drink
alcohol

Puritan — someone who believes that it is
important to work hard and control yourself,
and that pleasure is wrong or unnecessary

The correct answer is ‘Teetotaler’

17. The killing of a human being

b. assassination
d. suicide

a. murder
c. homicide

Explanation: Murder — the crime of killing a
person illegally and on purpose

Assassination — murder by sudden or secret
attack often for political reasons

Homicide — the illegal killing of one person by
another; murder

Suicide — the act or an instance of ending one's
own life voluntarily

The correct answer is ‘Homicide’

18. Person who eats too much.

a. fatty
c. glutton

b. polyglot
d. precocious

Explanation: Fatty — having a lot of fat in or on
it

Polyglot — knowing or written in more than one
language

Glutton- a person who eats too much
Preconcious — showing mental development or
achievement much earlier than usual.

The correct answer is ‘Glutton’

19. A child born after the death of his father

b. late
d. posthumous

a. orphan
C. progenitor

Explanation: Orphan — a child whose parents
are dead

Progenitor — the parent or direct ancestor of a
person, animal, or plant.
Posthumous — given or
somebody has died

The correct answer is ‘Posthumous’

happening after
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20. Period of ten years

a. decade
C. anniversary

b. fortnight
d. biennial

Explanation: Decade — a period of ten years
Fortnight — two weeks

Anniversary — the annual recurrence of a date
marking a notable event

Biennial — happening once every two years

The correct answer is ‘Decade’

Directions: Choose the correct answer to the
given idiomatic verbal expressions given
below.

21. To hold one's tongue:

b. to be silent
d. to curb

a. to be ready
c. to speak

Explanation: To hold one's tongue means to
refrain from or cease speaking; keep silent.
The correct answer is ‘to be silent

22. To fall flat:

b. to be fruitless
d. to collapse

a. to pass away
c. toyield

Explanation: To fall flat means to fail to
produce the effect that you wanted
The correct answer is ‘to collapse’

23. To be above board:

a. to have a good height

b. to be honest in any business deal
c. to have no doubts

d. none of these

Explanation: To be above board means to be
honest, straightforward, and open, and not
trying to deceive anyone

The correct answer is ‘to be honest in any
business deal’

24.To be at home in:

a. to feel safe

b. be well versed in
c. to feel intimacy

d. to have afine time

Explanation: To be at home means to be
familiar with something or to know a lot about
it

The correct answer is ‘to feel safe

25. To get rid of:

a. to understand

b. to prevail over

c. to be deprived of

d. to become free from

Explanation: To get rid of means to remove
something that you do not want any longer.
The correct answer is ‘to become free from’

Directions: Out of the alternatives given, select
the word which closely fits each definition.

26. A person who does not believe in the
existence of God

b. atheist
d. ascetic

a. theist
¢. agnostic

Explanation: Theist — a person who believes in
the existence of a god

Atheist — a person who does not believe in the
existence of a god

Agnostic- a person who is not sure if God exists
or not

Ascetic — avoiding physical pleasures and living
a simple life

The correct answer is ‘Atheist’

27. Animals that eat flesh

b. carnivores
d. graminivorous

a. herbivores
. vegetarian

Explanation: Herbivores — an animal that only
eats grass and plants

Carnivores — any animal that eats meat
Vegetarian — a person who does not eat meat

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE ——

or fish
Graminivorous — feeding on grass.
The correct answer is ‘Carnivores’

28. An animal that is equally at home on land
and in water.

a. cannibal b. domestic
c. ambhibians d. aquatic
Explanation: Cannibal — a person who eats

other people

Domestic — not international; only within one
country

Ambhibians — an animal that can live both on
land and in water

Aquatic — living or taking place in, on or near
water

The correct answer is ‘Ambhibians’

29. A tank where fish or water plants are kept.

a. nursery
C. agquarium

b. aviary
d. apiary

Explanation: Nursery — a place where young
plants are grown and sold

Aviary — a large cage or area in which birds are
kept

Aquarium — a glass container filled with water,
in which fish and water animals are kept

Apiary — a place where bees are kept

The correct answer is ‘Aquarium’

30. A short journey for fun

b. emigrant
d. emissary

a. excursion
c. amateur

Explanation: Excursion — a short journey or trip
that a group of people make for pleasure
Emigrant — a person who has gone to live in
another country

Amateur — a person who takes part in a sport or
an activity for pleasure

Emissary — One designated as the agent of
another : representative.

The correct answer is ‘Excursion’

Directions: Pick out a word from the given
words to make the given sentences
meaningfully complete.

31. One of the committee members brought
an interesting point.

b. with
d. forward

a. up
c. about

Explanation: Bring up: To raise or mention
something for discussion.

Bring with: Usually used with "bring" to indicate
bringing someone or something along

Bring about: To cause something to happen.
Bring forward: To propose or present
something for consideration.

The correct answer is ‘Brought up’

32. Does your pride prevent you
making decision you know you should?

b. alert
d. quiet

a. away
c. from

Explanation: The correct preposition after
"prevent" is "from."

33. | had not expected to meet him, it was

quite an meeting.
a. organized b. intentional
c. undesirable d. accidental

Explanation: Organized: Implies planning, not
unexpected.

intentional: Means done on purpose, opposite
of unexpected.

undesirable: Means not wanted but doesn’t fit
the context of surprise.

accidental: meaning unplanned or unexpected.
The correct answer is ‘Accidental’

34. | could see the sight since it was
dark.

a. clearly b. barely

c. aptly d. obviously
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Clearly: easily visible

barely: "only just" or "with difficulty."
aptly: in an appropriate manner
obviously: clearly or unmistakably
The correct answer is ‘Barely’.

35. Their to scale the mountain peak
was an absolute failure.

b. desire
d. proposal

a. attempt
C. anxiety

Explanation: Attempt: try to do something.
desire: a wish or longing

anxiety: s to worry or nervousness

Proposal: Refers to suggesting something, not
about attempting to achieve a goal.

The correct answer is ‘Attempt’

Directions: Select the appropriate synonym
(which is nearest to the meaning) to the words
given in capital letters.

36. CHEERFUL

a. colourful
c. beautiful

b. joyful
d. powerful

Explanation: Cheerful — feeling happy
The correct synonym is ‘joyful’

37. BEHAVE
a. act b. speak
C. more d. manners

Explanation: Behave — to act in a particular way
The correct synonym is ‘act’

38. HONESTY
a. integrity b. proficiency
C. minority d. rarity

Explanation: Honesty — uprightness of character
or action

Integrity — the quality of being honest and
having strong moral principles

Proficiency — the fact of having the skill and

experience for doing something
Rarity — a thing or a person that is unusual
The correct synonym is ‘integrity’

39. HOSTILE
a. friendly b. inimical
c. fallacious d. quarrelsome

Explanation: Hostile — having very strong
feelings against somebody/something

Inimical — harmful

Fallacious- based on a false idea

Quarrelsome — liking to argue with other people
The correct synonym is ‘quarrelsome’

40. REQUEST

b. allow
d. search

a. permit
C. pray

Explanation: The correct synonym is ‘pray’

Directions: In each of the following question,
choose the alternative which can replace the
word underlined without changing the
meaning of the sentence.

41. It is not for lay leaders to evaluate a great
poet.

a. learned
c. idle

b. ordinary
d. expert

Explanation: Lay — (as an adjective) without
special training in or knowledge of a particular
subject

The correct answer is ‘idle’

42. The novel was so interesting that | was
oblivious of my surroundings while reading it.

a. indifferent b. watchful
c. aware d. unaware
Explanation: Oblivious — not noticing or

realizing what is happening around you
Indifferent — not interested in or caring about
somebody/something
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Watchful — careful to notice things

Unaware — not knowing about or not noticing
somebody/something

The correct answer is ‘Unaware’

43. Her extraordinary stage appearance should
not be attributed to sheer fluke only.

b. effort
d. meeting

a. event
c. accident

Explanation: Fluke — a surprising and lucky
result that happens by accident
The correct answer is ‘accident’

44. The examination is going to commence on
the 10th of this month.

a. fininsh
c. cancel

b. begin
d. continue

Explanation: Commence — begin, start
The correct answer is ‘begin’

45. The invasion force had no artillery and was
completely annihilated.

b. defeated
d. split

a. reduced
c. dismembered

Explanation: Annihilated- to destroy or defeat
somebody/something completely

Dismembered — to cut a dead body into pieces
The correct answer is ‘defeated’

Read the passage given below carefully and
answer the questions that follow:

Every year, millions of people around the world
celebrate International Women's Day on March
8. This day is a reminder of the struggles and
achievements of women throughout history
and serves as a call to action for gender
equality. The origins of International Women's
Day date back to the early 20th century when
women in different countries began to organize
and protest against discrimination and
inequality. In 1908, 15,000 women marched
through New York City demanding shorter work

hours, better pay, and voting rights. The
following year, the first National Woman's Day
was observed in the United States on February
28. In 1910, an International Women's
Conference was held in Copenhagen, Denmark,
where a proposal to establish an International
Women's Day was passed. The first
International Women's Day was observed on
March 19, 1911, in Austria, Denmark, Germany,
and Switzerland. Since then, International
Women's Day has been celebrated in various
ways around the world, from marches and
rallies to cultural events and social media
campaigns. The day is an opportunity to
acknowledge the contributions of women to
society and to advocate for their rights and
empowerment.

46. What were the demands of the 15,000
women who marched through New York City
in 1908?

a. Better working conditions

b. Shorter work hours, better pay, and voting
rights

c. Equal pay and job opportunities

d. A and C both

Explanation: In 1908, women demanded
shorter hours, better pay, and voting rights.

47. In which year did the women come
together for the first time to demand for their
rights?

b. 1910
d. 1928

a. 1908
c. 1911

Explanation: Women first demanded rights in
1908.

48. What is International Women's Day?

a. A day to celebrate men

b. A day to celebrate women's achievements
and call for gender equality

c. A day to protest against women's rights

d. None of these
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Explanation: International Women’s Day
celebrates women’s achievements and calls for
equality.

49. What is the purpose of International
Women's Day?

a. To acknowledge the contributions of men to
society

b. To advocate for
empowerment

c. To protest against gender equality
d. A and B both

women's rights and

Explanation: Its purpose is to support women'’s
rights and empowerment.

50. Where was the first International Women's
Day observed?

a. United States

b. Denmark

c. Austria, Denmark, Germany, and Switzerland
d. New York

Explanation: The first International Women'’s

SECTION ‘B’ — HINDI (&=

51. “HRY IS T HEl Hir-fa=ae R

a. Wl + 397 b. TET + 331
c. Wl + 397 d. ofg + 331

SGAT: HRT 3768 F 07 Ffey &, T Wy o Sfw g
forere gaAm@T R

% 5 9g B B

52. ‘U1 KT FATISTT I3 B-

a. qr g b. ATEAT
c. T d. 7eT

STGAT: N1 o YATFST T © - 91 % 31 it
e &

53. AT 31ea ¥ T e T S g 87

a. fogm b. a3
c. F=r d. sh

SATGAT: AT+ 3168 H “F” e T TANT g7 2
JTfes = fogme + 3

Day was observed in Austria, Denmark,
Germany, and Switzerland.
TeI SR &1 9E B 2 (i) Fd I (i) Afgd g

54. ‘AT’ Y158 W i TT H0H 87

a. AT
c. fa1

b. e
d.3%

ST 7121 T2 7 STepfiTel e 2
FATENS - § o STEAR

55. 3TH & T 1 I3 LG R ?
a. shetRT b. ATl
c. T d. 991

STEAT: 0% I8 T[S & SEeT 3G 79 o &) Talfeh
31 AT THTEH, FHeTor, FHereT 36 €9 4 1

56. ‘3 1 faelv ysa @ -

b. faw
d. St

a. Stta
c. Hiar

STEAT: 37 1 faar e faw grar 2
57. <3fer ot forei wrsq &

a. < b.kH
o

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE ——

c. AT d. Ty

RSAT: {1 Foreim w168 <37 Bar 31 '3t w76q
e € g ST, STel(oh ‘37T 168 T Y & S5 A

58. “HTIM I foediH 3108 2-

a. SIIS T b.
c. g4 d. T3Hie

SRGAT: 3T 7 forei wreg “Frem g 2
59. TR 31 # fofer e T ST g1 27

a.g?? b. =
c. Y d. ¥d

SRSAT: T 368 § S TIT & -

I + 37 = YR

60. Trert e = o ST w8 % forg S
T 8-

a. SEAST b. sfeadtar

c. A d. ffea

REAT: SRR ot AT R ST T 2 aeRiieT o forg
T 9753 & - S|

61. “IISIMTEAT I[e8 H I AT THE 27

a. FATRIHTOT TLeT b. HESY e
c. =0T TeqeT d. TFIET e

AT G133ATAT Wﬁ HHEIQTH dc‘\‘ljbq W%l qT3RMTcA
1 gATE fauE - a8 & for smmem)

62. G Y1sa 1 BffT T BT

a.ﬁ'\qﬁﬁ b.‘v'lfl'f
c.ﬁ'\qﬁ d.lfﬁ

=vEAT: T ¥1eq 1 EffeiT gt g 2

63. S ST T S Heh” 3 Fore S wrsa 2

a. 3R b. stfafsa

c. forsrmit d.gﬁ'ﬂ

TEAT: S ST = S Heh o foTT IWIeh o€ € - 31|
64. € 3R fow = AERE R

a. ILHEE T 1Y b. fet-femmT s @rer

c. T2 HT A1 d. ST - ITH o7 T

AT 1% 3T for 1 =it e 1 |
ATt STHH ST @7 - G |1 St vl 728
65. SYHR 158 HT fad & -

a. YR b. ARK
c. 9lehiT d. JATH

AT: I 168 T (A I68 — “AIHR|

66. Toresmt o 7 foram T &k 3 foTT I wog 22
a. 3hy b. 3R
c. Ty d. 3l

RS foTadT gui= 9 fhar or |9 & foru
SUYh e — ‘AU |

67. 3T & forer wreg # foiT - wereft ersfeat &2
a. 359 b. TTTIRT
c. MY d. |l

WG 35t 368 1 [ 79 ‘Issadt”
68. “aferult” S1eg & forer oo o ST et 27

a. oft b.§
c.q& d. 3ot

STEAT: 3f&0Tt 3168 T I 37 T AR g1 2
gfeqoft = afeqor + 3
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69. TH a1 it foras & et 3 g em A
. YET e 2 R | e & e
T i hiferg

a. 3 FAE AT

b. e TH I T |

c. TR ¥ TeX 7 fherd &N
d. T F T AT

RGAT: A 1 il s e & qre o b o

T T @ 6 $3 % =fe 2 e En

53 T 1€ - 95 feA1 ag faws <1 a1 sigd 6w fowrs
Ll

70. TR’ 1 foher I ot T g 8l

a.q b. I
c.ar dv

STEAT; T T 763 H T T ohT AT AT 2
ST T I6aT o T g 3oh 379 H UREd AT 2

SECTION ‘C’ — SOCIAL SCIENCE

71. When did Simon Commission reach India?

TG AT A el gl AT?
a. 1926 b. 1927
c. 1928 d. 1930

Explanation: The Simon Commission arrived in
India on February 3, 1928. The commission was
a group of seven British Parliament members
who were tasked with studying constitutional
reform in British India.

SAWGAT: TIEH ST 3 BLadl, 1928 =l 9HRA AT o)
Ig HATENT |Iq fsrfesr Hoe qewr 1 G aqg of {8
fotfemr viwa o wiferenferer Gaml w1 sTem T w1 e
T 71T @)

72. Who was the first Viceroy of India?

ARG o g ARG i &2

a. Robert Clive/ Teié atsa

b. Lord Willam Bentick/ @€ fafeem sifesh
c. Warren Hastings/ a1 gfsa

d. Charles John Canning/ =ITed S ST

Explanation: Lord Canning was the first Viceroy
of India, serving from 1858 to 1862. He was the
Governor-General of India during the Indian
Sepoy Mutiny of 1857.

SGAT: AT h{+TT WA o gt argeiid o, {52 1858
Y 1862 d s {5 I 1857 & i furet fasie &
AT TR o TS oY )

73. Hindu Succession Amendment Act was
passed in

g STuRER @) i d i fear
=

a. 2005 b. 2006
c. 2008 d. 2010
Explanation: The Hindu Succession

(Amendment) Act was passed in 2005
Assent: The President of India gave assent to
the act on September 5, 2005.

Effective date: The act came into effect on
September 9, 2005

SEAT: fég STferhm (duire) HAferf=m 2005 # i
g ol

AT 9T o Tsgute 7 5 fods, 2005 sl 36 Aff=m
X T &l

STt fafer: o A 9 fadsr, 2005 ¥ ST gl

74. Who devised the new-system of revenue
called Mahalwari?

TETASTY T 75 TSI STt e aoIR hi?
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a. Queen Elizabeth/ F=H Tfersiiaier
b. Holt Mackenzie/ Blce Hehsil

c. Queen Victoria/ i fereraifam
d. Gandhiji/ iefisft

Explanation: Holt Mackenzie introduced the
Mahalwari system of land revenue in India in
1822:

The Mahalwari system was a land revenue
collection system that aimed to protect village
autonomy.

STEAT: Tee Hepsil 4 1822 H WA H Heatart i &
JUTTEAT =hT JTESTA 26|

HEAHY YUt Teh fH oL ErEor Jurrett off foreeht 3evd
TITaT oY TATIRIAT ShT TET HEAT oMl

75. Which article of constitution provides
Indian citizens 'Right to Equality'?

Ha™ 1 F A AT TRAT TR B AT
T AR IS LT 87

a. Article 17/ sig=se 17
b. Article 14/ s1f=32 14
c. Article 29/ 31@%3 29
d. Article 42/ 3F=e 42

Explanation: Articles 14-18 of the Constitution
of India guarantee the right to equality for
Indian citizens.

AT IRd % Hiou™ & A8 14 ¥ 18 Rd™
ATTIRT ShT FHTAT T SRR G L o

76. What are the introductory lines of the
Preamble of the Constitution of India?

VR & Gfra it SereAT Y s diteat = &

a. We, the Indians ___ /&9, 9RdT

b. We, the citizens of India _/&H, Wid & AT
c. We, the members of the Constituent
Assembly __ /&m, @fqa— o dee

d. We, the people of India __ /&%, WRA F AT

Explanation: The introductory lines of the
Preamble of the Constitution of India are "We,
the People of India". The Preamble is a brief
introductory statement that sets out the
guiding principles and purpose of the
Constitution.

STSAT: WId & G hl TEareHT shi Tifer gierat @
"EH, AT o ANT"| TEATEHT Ueh §iaTd i ached @
ST i o Arlexieh fagidl ST 3eTd sl e T
Hi

77. The contact zone between the lithosphere,
hydrosphere and atmosphere is called

e, Javed IR THSTS T WS & W
g T &

a. Tundra/ Zgr
b. Biosphere/ Si& et

C. Atmosphere/drgHsa
d. Ocean/ Ha™EI R

Explanation: The narrow zone of contact
between the lithosphere, hydrosphere, and
atmosphere is calledthe biosphere. The
biosphere is the life-sustaining zone of the Earth
where all living organisms and their activities
exist.

STEAT: TITHE, SRS TR ATIHSH o sfi=l defeh i
T &1 SIS FeaATdl 8| StaHee Jea 1 98 Sie-
gorfer & ® st gl Sfifaa sfter it 39 framerama
B 2l

78. In which year Vasco da Gama, the
Portuguese explorer discovered the sea route
to India?

FTEEhT ST T, T (AT WA o fog /s Ami
Fraet form ad iy oft?

a. 1498
c. 1456

b. 1497
d. 1435
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Explanation: Portuguese explorer Vasco da
Gama discovered the sea route to India in
1498:

On May 20, 1498, Vasco da Gama arrived at
the trading post of Calicut (Kozhikode), India.

SRGAT: T STIeh SREh! &1 AT A 1498 H A1d %
[SRECEERINEIREIS Al
20 HE, 1498 oI ITEhT &7 T YA & SAITH g
FHTefihe (HIEfiere) TEl

79. Who are firangis?
Tttt P 2

b. Spiritual/ smenferes
d. Maritime/ =gt

a. Literate/ @mer
c. Foreigners/ faesft

Explanation: The term firangi is used to refer
to foreigners, especially the British during
colonial times in India. The word is of Persian
origin and is often used in a derogatory sense in
Urdu and Hindi.

RAT: "fHTT" 3Teg T YFIT =iy €9 T IuTaRi et
T fafest =1 gefifa w3 & o fomm siar om a8 wse
HICHT Il T § 3T 39 R Tt # srere s|ehT T
AT 27 | fora STTar 21

80. How many members are there in Lok
Sabha?

AR aT # fFa gesr g 82
a. 540 b. 545
c. 560 d. 518

Explanation: The Lok Sabha comprises of a total
of 545 seats. Out of these, elections will be
conducted by the Election Commission to fill
543 seats. The remaining two seats are filled by
nomination of representatives of the Anglo-
Indian Community if the President feels that
this community has not been represented
adequately.

SARGAT: TR T bt 545 FE Breft & 370 & 543 #ei
o ToTT TATer STTITT ST TATE SRS foT STt 2 19 &

Hié tren-gfea wer & wiaffest grr amifed
STt €, Al egufa 1 @ € T 5@ wHer 5 g
e T o1 2l

81. For what purpose are Kusum and Palash
flowers used?

T A T % B e Se 3 fore s e S
L4

a. Extracting oil from the seeds/ st 4 9o
ferer % forg

b. Colouring clothes and leather/ FUg I T9S
I T % forg

c. Cooking and making food/ @HT Uk ST sisH
M & ferg

d. All of them/ 8 & &+t

Explanation: The Khonds supply Kusum and
Palash flowers to local weavers and leather
workers who use these flowersto colour
clothes and leather.

AT WS T FYH SR TAT o Bl T FFRd
R THE % FRIR I T&H L 8, S g7 il b 3T
FS I TS I T & forg o 2

82. What is the full form of TISCO?

TISCO T YT 7 T 87

a. Technical Iron and Steel Company/ feera
I 37 T shoT

b. Tata Iron and Steel Company/ =T I 3R
e shuHt

c. Tatanagar Iron and Steel Company/ 2R
TR 3T T ot

d. None of these/ 398 & =S &

Explanation: TISCO stands for Tata Iron and
Steel Company Limited. Sir Jamsetji Tata
established the company in Jamshedpur,
Jharkhand in 1907. TISCO is now known as Tata
Steel and is one of the world's 10 largest steel
producers.
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IEAT: TISCO T I T el ARA U Tt shot
ferfiree 1 58 St Y TATOHT T SERIES 2T T 1907
T FRES & SRS | 1 ol TISCO 31 2T &
A A ST ST @ S T g bt 10 Fe et &
IcqTEeh AT § 9 T 2

83. In which year was Sati banned?

gt wour <R forer o iR fora mm o
a. 1816 b. 1827
c. 1836 d. 1829

Explanation: In December 1829, Lord William
Bentinck, the first governor general of British-
ruled India, banned sati, the ancient Hindu
practice of a widow immolating herself on her
husband's funeral pyre.

qreA: fedet 1829 #, ferfesr-snfoa v & et et
S re faferm sifdeh F Tt 7o W yfdsier e, S
T e fég s off fores foreran st ufa =t sty
Sifer H T BT ST & et off

84. Which continent of the world does not
have a desert?

g vt =t a meTEie v A fea 87

a. Europe/ﬂjtr

b. Asia/ Tf¥mm

c. Australia/ sfregfemn
d. Africa/ 3TshishT

Explanation: Europe is the only continent in the
world that does not have a desert. While
Europe has many sunny and sandy areas, most
of its deserts are considered semi-deserts.

SRGAT: I AT T THATT FETET & ST e T
2| Safer I F 3 g 3R et &7 2, 9 SR
Ufrea st R (T e T ST R

85. Deposition of sand in a low hill-like
structure is known as a:

SR T T S TEIST SAeft W1 H ST T T FdT

AT e?

a. Glacier/ ™if¥PR

b. Sand dunes/a'lq\éﬁaﬁ
c. Hill/ geTet

d. Valley/ =t

Explanation: The deposition of sand in a low
hill-like structure is called asand dune. Sand
dunes are formed when desert winds transport
sand over long distances and deposit it in low
hills when the wind stops blowing.

TEAT: STe] 1 UshfAd eHT 3 Ush Feredl qergt st
G T ST A1 o et FHeeATal 8| de] o et qof
& ST YRt gaTd SfTe] =Rl sl gl ok of STt @
ST &l Tkl €, A1 Fe STe] F=redt vertet § S
ST 2

86. Name the state in which Kakrapara Nuclear
power station is situated?

TR TR TR X oy Tt Ry 22

a. Rajasthan/ TUsEa™

b. Gujarat/ TSI

c. Uttar Pradesh/ 3T W&
d. Maharashtra / AgRTS

Explanation: Kakrapar Atomic Power Station is
a nuclear power station in India, which lies in
the proximity of Mandvi, Surat and Tapi river in
the state of Gujarat.

STEAT: FTHTI TATY] forgd T Th T foregrd
T & S WA o Tod T 7 ferd 2, 31 7 mted,
LT S ATHY &1 o T feerq 2

87. In representative democracies, people
participate:

wfcffer et # @07 e TR & T ™id 82

a. Directly/ =er
b. Indirectly/ w0iet €7 &
c. Both (a) & (b)/ M (a) 37 (b)
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d. None of these/ 71 & IS &t

Explanation: In a representative democracy,
people participate indirectly in the decision-
making process by electing representatives to
make decisions on their behalf.

SR AT Siehds |, AT 3Tcae &9 9 fuia-
fomfor sifsram o 9wt rd €, 3o AiaffRri st e St
I 3T H favig & 2

88. Canadian shield is rich in:

FATSTS Y fored we 27

a. Gold and Uranium/ Tiiee 31 afam

b. Bauxite/ siiedT8e
c. Manganese/ §ist
d. Phosphate/ ®i&he

Explanation: The Canadian Shield is primarily
made up of igneous and metamorphic rock. Due
to the extremely high temperatures and
pressure that the rock was exposed to there are
many minerals that can be found including gold,
silver, copper, uranium, iron, and diamonds.

RGN FAISTS Mo &I &9 § I I Fidid
T O o B TEHT BT S TR STu d9EH 3T
galTd ST ST, 38k T J&T s @i-sT UTT SI1d &,

89. Nomadic herding is practised in:

WIS TS el <l et 2

a. Tropical region/ STkl &1

b. Temperate region/ THIQST &

c. Arid region/ Ik BE]

d. Subtropical region/ 3U-3WishfesefiT &

Explanation: Nomadic herding is practiced
inthe semi-arid and arid regions of Sahara,
Central Asia, and some parts of India, like
Rajasthan and Jammu, and Kashmir.

STEAT: ¥ WRITeH derl, -3 ST o &l |
fopam ST ®, S weW, wew UM, R 9Rd % FO

T, S o R ST e

90. Nepal became democratic in

AT Vbl el STAT?
a. 2005 b. 2006
c. 2007 d. 2008

Explanation: In 2006, Nepal changes its form of
government from monarchy to
Democratic after several decades of struggle.
Nepal adopted its constitution in 1990 which
had clearly shown the powers and authorities of
a king.

EAT: 2006 T, ST < g EIEhT o HoY o o8 AT
e YOt Rl TSIl & SAlehdifieh ®9 § see faam|
JaTel T 1990 H AT EfreT bt 7uTEn o, fored oy
BY T TSI o AfRIHR 3 wifcrat Ferifia e off)

91. Industrial locations are influenced by
availability of

senfe wom @ fafor . f Seceua &
BEIECRIG RS

a. Raw material/ sh==1 A1cd
b. Labour/ ®

c. Transport/ af@@a

d. All of these/ 379 @ g+ft

Explanation: Industrial locations are influenced
by the availability of many factors, including:
raw materials, land, water, labour, capital,
power, transport, and market

STAT: 3TN TATHT ohT 3 s HIehi hl STTSH]
T woferd grar ®, o smfirer &

Fed W, o, T, At S, S, afteed, i
EISIE

92. When was Swarnajayanti Gram Swarojgar
Yojna started?
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Uit 7T TSR ST el 6§57

a. 15th August 1947/ 15 3TT&d 1947
b. 26th January 1950/ 26 SRt 1950
c. 2nd October 1993/2 3fagsR 1993
d. 1st April 1999/ 1 31T 1999

Explanation: The  Swarnajayanti  Gram
Swarojgar Yojana (SGSY) was launched in Aprill,
1999. The scheme was introduced by the
Ministry of Rural Development to help poor
families in rural areas become self-employed.

STEAT: USR] I TSR AT (SGSY) 1 319,
1999 I 3& i T3 off| g ASHT AT forehre Haer
I 1% ot 7S oft, Forereht Sewa wrior &l # Titer o
T SATH-TSTTI | T&TH ST o)

93. Who was the first person to step foot on
the Moon?

ST 9L hed 1@ JTet Y8 SAfeh i 97

a. Neil Armstrong/ et e

b. Harrison Hagan Schmitt/ i@ 3 feme
c. Charles M. Duke/ =Ted TH. Ih

d. David R. Scott/ Sfarg . whie

Explanation: Neil Armstrong was the first
person to walk on the moon, stepping out of
the Apollo 11 lunar module in the Sea of
Tranquility on July 20, 1969.

SRAT: A IAHET 9 Uecl s I Mg S50 ®
eH Wl =M 20 TS, 1969 1 el 11 TR
A ¥ ATet Feheteht =guT % "Mifd 4" (Sea of
Tranquility) 9 98T shaH TE|

94. Where is the Lal Bahadur Shastri National
Academy of Administration located?

AT TETGT AT LT ST SThraH! et foore 87

a. Shimla/ e
b. Delhi/ faeeft
c. Ooty/ ¥

d. Mussoorie/ 7gdt

Explanation: Lal Bahadur Shastri National
Academy of Administration is a civil service
training institute on public policy and public
administration in Mussoorie, Uttarakhand in
India. The academy's main purpose is to train
civil servants of the IAS cadre and also conduct
the Foundation Course of Group-A Central Civil
Services.

REAT: T ST WTEl T JRHeh AFTEH Th
TR BT YITeT e ® S Hiasies Hifd 3R
TSR SR o &5 H 6, I, IRd § fed 2)
STehTEH! T T IETA ATSUTH Hafil o AT bl i
Sfreer T ST Ty & gu-A FE fafad Janedt
HISSYM hIE ol ST T 2

95. Which place is known as "Manchester of
Japan"?

TG T ol STTUT ST AAIEeT" et ST 82

a. Tokyo/ Trrt

b. Kyoto/ Tt

c. Osaka/ STraTet

d. None of these/ 378 & 15 &l

Explanation:  Osakais known as the
"Manchester of Japan" because it is a major
textile centre in Japan.

SRGT: TSI HT "SI T ATt " el ST 2
FfeF I ST 1 U T o 2 2

96. Which party got a maximum number of
seats during 2019 Lok Sabha elections?

2019 % SEaT gATat & fore it e afer #ie
et

a.BJP b. INC
c. AAP d. NCP

Explanation: The Bharatiya Janata Party
received 37% of the vote, the highest vote
share by a political party since the 1989 general
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election, and won 303 seats, further increasing
its substantial majority.

AT AT ST urel (BIP) &1 37% aie fied, it
1989 s TTHT= T[T o 1e fefelt Trtfiferes wrdt g o
Tora T HaE ST 91 TR o, SR 3ET 303 i Sidet
ST FSTe SEHd T S G|

97. Who is the leader of ruling party in the lok
sabha?

AT A TG 1T T T S Bt 22

a. Prime minister/ J&m=sit

b. President/ Trsgdfe

c. Speaker of lok sabha/ SieFaT 31eeT
d. All of these / 378 & @:ft

Explanation: The Prime Minister is the leader of
the ruling party in Lok Sabha.

STSAT: TEIHH3T Sleh @1 H 9Tereh a1t 3 3T 2ld 2
98. Acquit means :-/ S0 T &7 3

a. Imprisonment given to victim/@%ﬁaﬁw

Ll

b. Court declaring not guilty/ 3Terad g Eﬁﬂg?ﬁ
N

c. Both (a) & (b)/ (a) 3T (b) TFT

d. None of these/ 371 9§ IS 2f

Explanation: Acquit means to decide officially in
a court of law that someone is not guilty of a
particular crime.

T S w3 § foreft st foRet famw
Y T ST T 380 & U 3TeTedd gRy ATfeeh1ieh
&9 9 fufg o

99. Wearing a is central to a Sikh's
religious practice

ST U o & et sname 1 R
e

a. Pagri/ wret

b. Suit/ g2

c. Jacket/ Sishe

d. All of these/ 379 @ a+ft

Explanation: Wearing aturban, or pagri, is
central to a Sikh's religious practice. Sikhs
consider their turbans to be gifts from their
gurus, and the meaning of their turbans is
deeply personal.

AT TS T&H1, a1 e, i & et 1w s
T Heca ! feww 2| g st wTfedi &t S7u el |
ITH SUER " &, 3T 3ok Tl o 3714 S forw et
T 21 2

100. Who designed New Delhi?

74 et =1 fesmen foram famm?

a. Herbert Spencer and Charles Darwin/ RED
T 3R =red grfa

b. Herbert Baker and Edward Lutyens/ RELACETS
i e wfemm

c. Herbert Spencer and M Viswesvaraiah/ 8¢
T 3 . faden

d. None of these/ 1 & =S el

Explanation: Sir Edwin Lutyens, an English
architect designed New Delhi. He was known
especially for his planning of New Delhi and his
design of the Viceroy's House there. When the
British decided to move the capital of India
from Kolkata to Delhi.

R T Ui qfead, Th S areqew, 7
foeeft il FieFT 5SS fam &9 ¥ 78 fooeft it
AT 3R -1 o IO B8H & TS & fog S
Srar ?1 oo fsifewt T v i wster @B e 9
feeeft Tommtafa s 1 frofa foram, ot qfeama ofi aeié
SRt 7 firetst feeett & 90 Ty i A1 fe=m|
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PART - 1l

SECTION ‘D’ - MATHEMATICS

-10 -15 17 .
101. The value OfT X - X o X 0is:

-10 -15 17
TXTXEXOWWW%.
a.0 b. 22.66
c. 20 d. 35

. —-10 _ -15 _ 17
Explanation: — X — X —X 0
3 2 19

= 0 [~ if we multiply a number by 0,
answer will always be 0]
e
-10 -15 17
— X—X—=X0
3 2 19

=0 [~afe = foret Heam 1 0 & o R &, A 3w
BHIM 0 & 21T

102. What least number must be subtracted
from 7250 to get a perfect square?

7250 | I Y =[TaH T FeTs ST foh aRorm e ot

LNV
a.22 b. 23
c. 25 d. 24
Explanation/ SIT&AT:
8 7250 | 85
+8 -64
165 850
- 825
25

Hence, least number is 25.

37, T BT HEAT 25 B |

103. x*- 2x + 1 is a polynomial in:
(- 2x+ 1) THEER

a. One Variable/ T =t &

b. Two Variables/ 21 <t &
c. Three variable/ f T =w &
d. None of the these/ 8 ¥ =S It

Explanation: x” - 2x + 1 is a one variable
polynomial.

AT x* - 2x + | T = AgIe < |

104. If p(x) = x + 3, then p(x) + p(-x) is equal to
AR (p(x) = x +3) 7, A (p(x) + p(-x)) T :

a.3 b. 2x

c.0 d.6

Explanation: p(x) = x + 3

p(—x) = —x+3

Now, p(x) +p(—x)=x+3—-x+3=6
SYRAT: p(x)=x+3

p(-x)=- x+3

A, p(x)+p(-x)=x+3-x+3=6

105. A number ending in 9 will have the unit
place of its square as:

9 U GHTH 81 ST ST o6 11 ol SohTS 3ieh BITT:
a. 1 b.5
c.8 d.6

Explanation: Number = (......9)°
When square is calculated, 9 will be squared in
unit place and hence 1 is obtained.

EAT: TeT a1 fohaT STt 2, T $ohTS T OX 9 T &t fha
STQT 3T RSy 1 9T BT 2

106. The square root of 5.3 x 5.3 is?

5.3 x 5.3 HT A 2

a.5.29 b.2.3
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c.53 d. 28.09

Explanation/=9r&T: 5.3 X 5.3=5.3

107. Rational Number lying between 2 and 3
isf/are:

2 3 3 % o= Ry o e /8

a.5/2
b.11/4
c. Both A and B/ 2T A 3 B

d. Nether A nor B/ Fdl A 3T & B

Explanation: Rational Number lying between 2
and 3 areg =25

And % = 2.75

SRRAT: 2 3 3 o o= e iy g@ar 5/2=2.58
R 11/4=2.75

108. In a frequency distribution, the mid value
of a class is 10 and the width of the class is 6.
The lower limit of the class is:

U Auft foraor ®, feret Soft =61 weer Wi 10 @ 3T Soft

S et 6 8137 Avft it i R ?
a.6 b.7
c.8 d. 12

Explanation: Mid value = 10

Width =6

We know that,

Upper limit — lower limit = width

And, upper limit + lower limit = mid value

2
VUL =LL=6 (i)

And, ”L;“ =10

UL+ LL =20 .........(i0)

From (i) and (ii)

2UL = 26

UL =13

And, from (ii)

13+ LL =20

LL=20—-13=7

Hence, lower limit of the class is 7.

IEAT: 4T A = 10

qeE =6

T Uar e {5,

SR T - Fereredt i = <ters

3R,

(St i + fareft wimm) / 2 = mer e

(UL+LL)/2=10
UL+LL=20 ............. (ii)
(i) 3T (i) &,

2UL =26

UL =13

I, (i) 9,

13 +LL =20
LL=20-13=7

ST, heT shi frereft #fimr 7 2

109. The equation y = 5, in two variables, can
be written as:

QR H G (y = 5) T 59 &9 6 foraT ST ahar @

a.1x+1.8=5
c.1x+0y=5

b.0.x+0.y=5
d.Ox+1y=5

Explanation: y = 5,x = 0
This can be written as-
0.x+1.y=5

AL y =5, x=0
3 39 Yoh fora ST gendT & -
Ox+1ly=5

110. Which of the following is the numerical
coefficient of x2y*?

X2y ST GGATH T[T i |1 87
a.o b.1
c. x’ d.y?

Explanation: Numerical coefficient of x2y”is 1.
ST X2y T T o7 | 2

111. The value of (x + y)(x-y) + (y-z){y + 2) + (z
- x)(z + x) is equal to:
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(x+y)(x-y)+(y-2z)y+2)+ (z - x)(z + x) HTHAT
T E:
a. 3x? b. 3y2
c.3z2? d.o

Explanation: (x + y) (x—y) + (y—2z)(y +

2)+(2z—x)(z +%x)

Using the identity, (a + b)(a — b) = a? — b?
x2—y? +y?—z%2+ 2% —x?

=0

E+yE-N+y-—2+2)+2-%) (z
+ x)

A ve9H (a + b)(a — b) = a? — b? Fr3yEm

A T,

X2 —y2 4 y? _ g2 4 72 _ 42

=0

112. What is the radius of the largest circle
that can be cut out of the rectangle measuring
10 cm in length and 8 cm in breadth?

39 Fa 9 I T HrAr 41 2t R 10 it S 4g oK

8 Ot SNeTE TTey AT A FIeT ST HehelT 87
a.4cm b.5cm
c.8cm d.10cm
Explanation:

T

i

! r Scm

10 cm

diameter of circle = breadth of rectangle =8 cm

diameter 8
———=-=4cm

So, radius =
2 2

ST 3 T ST = TR 31 =1eTs = § T
A pem="0 =2 = 4 &
113. Ramesh bought an air cooler for Rs. 3300

including a tax of 10%. The price of the air
cooler before adding tax was:

T 7 T TR FA 10% 24 G 3300 792 7 @l

e g & v G e B e o

b. Rs. 3000
d. Rs. 2800

a. Rs. 2000
c. Rs. 2500

Explanation: let, price of the air cooler before
adding tax = x
x+x %X 10% = 3300

x4+ x x -2 = 3300
100
11x

— = 3300
10

x=300x10
x = 3000

SRGAT: 7T TS, T SIS & Teet TR FHe i HHd = x
x+xX10% = 3300
X+ x X~ = 3300
100
11x

— = 3300
10

x =300x10
x = 3000

114. The Pythagorean triplets whose smallest
number is 8 are:

YT s Jei as S e 8 8, a8 &:
a. 8, 16,17 b.8,17,18
c.8,15,17 d. 8,15, 16

Explanation: let the Pythagorean triplets be,
2m,m? —1,m? +1

Let,2m =8

m=4

Now,

m?—1=(4)?%?-1=15
m>+1=(4)>+1=17

Pythagorean triplet is 8, 15, 17

SFEAT: U AT qrremiE Feffresh (Pythagorean
triplets) &:

2m,m?>—1,m?+1

3,

2m =38

Fﬁ,m=4

3,

m?—1=(4)?—1=15
m?+1=(4)>?*+1=17

TR e € 8, 15, 17
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115. If (7/3) % of a number is 42, then the
number is?

Ife ot e =t (7/3) %, 42 ®, 91 98 ST HTR?

a. 2005 b. 8
c. 1800 d. 180

Explanation: let number be x

7
()% of x = 42
7

Hence, the number is 1800.

STAT: T T x &
(g)% of x =42

7 1
- X—Xx =42
3 100

X =18
100
3T §&AT 1800 Bl

116. The area of a squre is 100 cm3. The
circumference (in cm) of the largest circle cut:

Torelt ot =t SeheT 100 71 Ot B ST I T HEA 5

e b ey @t ) Bt

a. 110/7 b.220/7
c. 330/7 d. 20
Explanation:

10cm
Area of a square = 100
a’? =10
a=+100=10cm

Radius of circle =10/2 =5 cm

Now, circumference = 2ntr
22 220

=2X=X5==—
7 7

RAT: 7 T &% = 100

ar, a? =10
a=+v100=10cm

3:|a-7

ga el Brear=10/2 =5 cm
3:|a-7

I o1 I8 = 211

_, ><22 w5 - 220

B 7 7

117. A labourer is paid Rs. 806 for 13 days of
work. If he receives Rs. 1.798, for how many
days did he work?

T Afte & 13 R & w1 F fg 806 T # yram
Torrm rem afe 3@ 1.798 TR forey, < 3w fora fom v
Team

b. 35
d. 40

a. 29
c. 60

Explanation: A labourer is paid Rs. 806 for = 13

days

A labourer is paid Rs.1 = =
806

A labourer is paid Rs.1798 = 8% x 1798 = 29
Hence, he works for 29 days.

days

SYFEAT: Tk ASIgL T 806 %, T A fohall ST 8 = 13
fer % forg

U HSTQL b | ¥ T AT fohall STt 8= 13/806 fa %
fae

Tk HSTGL % 1798 B 2T YT fofT STl &

== % 1798 = 29

806
3, 9% 29 Tt qeh hd T Bl

118. The factorizationof 1+ p+q+r+ pq+ qr
+ pr + pgris:

1+p+q+r+pq+qr+pr+ pgr o TGS
2

a. (L+p)(1+qg)(1+7r)
b.(1-p)(1-q)(1-r)
c.(1-p)(1-q)(1+r)
d.(1+p)(1-q)(1-r)
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Explanation/ SaT&AT:
1l+p+q+r+pq+qr+ pr+pgr
1+p)+(q+7)+ (pq+pr)+(qr+pgqr)
1+p)+@+r)+plg@+7)+qr(l+p)
A1+p)+qr(l+p)+(@+7)+p(@+7)
A1+pA+gr)+(q@+r)(A+p)
1+p)1+qr+q+7]
A+p)[1+q0r+1)+7]
A+p[A+r)+q@r+1)
A+pA+rA+q)

119. What is the probability of choosing a
vowel from the alphabets?

R & A T TG T HITR?
a.21/26 b. 5/26
c. 1/26 d.3/26

Explanation: We know that,
Probability _ number of favourable outcomes

Total number of outcomes
Total number of outcomes = 26
Number of favorable outcomes = (3, €, i, 0, u)

Probability=%
SIGAT: &1 ST & o6,
5 _ 3fI%d URUIHI &1 dw
 uRm Bt o S
TIOTHT 26T et WA = 26
WW@@@T = (a,e,i,0,u)
TRreRdT = 5/26

120. The factors of x> - 4 are:
X2 - 4 F AESE &:

a. (x-2)(x-2)
b. (x+2)(x-2)
Cc.(x+2)(x+2)
d.(x-4)(x-4)

Explanation: x? — 4 = (x + 2)(x — 2)
"> by using the identity,
a? —b?=(a+b)(a—Db)

@A x2 —4=(x+2)(x —2)
wuga™, a? — b? = (a + b)(a — b) %7 39T L |

121. What could be the possible one's digit of
the square root of 676?

676 % T  FH1S TIH T I 3 T 8 Taha
#

a. 4,6 b.5,7
c.1,8 d.2,9

Explanation: The square root of 676 is 26. The
unit digit of 676 is 6, and only numbers ending
in 4 or 6 produce squares ending in 6. Thus, the
possible one's digits are 4 and 6.

STEAT: 676 1 AGA 26 81 676 % §HIS 31k 6§ o
A 4 AT 6 T HHTH BN | U HUTIIT THTS 3ok 4 3TN 6
2

122. 100 persons had food provision for 24
days. If 20 persons left the place, the provision
will last for?

100 =aferat o 9@ 24 Tt & fora s =1 Sraee am
gfe 20 =t ST ©WF A B T, A TE@uE fha =t
T T?

a. 30 days
c. 120 days

b. 96/5 days
d. 40 days

Explanation: M, =100

D, =24

And, M, =100-20=80
D,=x

As we know, M; D; = M, D,

100 x 24 =80 X x
_100x24

80
x = 30

AT M, = 100

D, =24

3R, M, =100 —20 =80

D,=x

ST foh 80 STMA €, M, D, =M, D
100x24=80xx

x = (100x24)/80

x =30

2
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123. The width of each of five continuous
classes in a frequency distribution is 5 and the
lower class-limit of the lowest class is 10. The
upper class-limit of the highest class is:

Toreft ammafvr feravor & wisr waa AR A e 5 7 oft
e et gft <t far €iar 10 {1 g S Aofr HY
Ioa diHT R R?

b. 25
d. 40

a. 15
c. 35

Explanation: let, upper limit of the class be x
Lower limit of the class be y

Width =5

X=YV=5 .. (i)

** Lower limit of the lowest class, y = 10
x—10=5

x=5+10

x =15

** Five continuous classes are there —
~10-15

15-20

20-25

25-30

30-35

Hence, upper class-limit of the highest class is
35.

RAT: 9 e, a1 sh Sod & x &
it o ety ef y 2
AeE=5

. Toetam =t & fmreft ', y=10
x-10=5

x=5+10

x=15

O EAd T -

S 10-15

15-20

20-25

25-30

3035

31, STodH a1l <l SoeT SH-EHT 35 2

124. The mean of five numbers is 30. If one
number is excluded, their mean becomes 28.

What is the excluded number?

Ui AT 1 SiEd 30 ] Af} v der i ger i
ST, T ST TE 28 B ST 3 TS T8 &A1 HT 82

a. 28
c. 38

b. 30
d. 32
Explanation: Mean = sum of 5 number

sumof 5 number
30 = Sumof 5 number

5
Sum of 5 number=30 x5 =150

* If one number is excluded, mean = 28

i.e. Total numbers =4
sumof 4 numbers

Total number

New mean =
Total numbers
28 — sum of numbers

4
sum of numbers = 28 X 4 = 112

Hence, Excluded number =150 —-112 =38
5 GBS BT AN
W. W*W

& 5 RT3l BT AT
5@%@3:306:150

.+ 1 ek T BT &1 S, oY 6IeT = 28
It el TEAT = 4

4 GO BT AN

- page

28 = (HTATSTT =T AM)/4

AT T ANT=28x4=112

37, ToehTeft T8 T = 150 — 112 =38

BRI

125. A sofa-set was bought for Rs 10000. Its
value depreciated at the rate of 10% per
annum. Find its value after one year.

T TIET 4 10000 T § G T oM FHHT o7 Wil
T 10% S ST S T T o9 3 G F6ebT 4 ot
e

a. Rs 11000
c. Rs 10000

b. Rs 9000
d. Rs 1000

Explanation: CP = Rs.10000

Depreciated value = 10%

Value after one year = 10,000 X 20

100
=90 x 100 = Rs.9,000
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RGAT: 57 7 = %.10000
IR I = 10%
% e e = 10,000 X
=90x100 =%.9,000

126. Pictorial representation of data using
symbols is known as:

el Freet 1 ST ek St 1 e it s
HEATaT &7

a. Bargraph/ SR UT%

b. Pictograph/ fuemms

c. Piechart/ ut$ =é

d. None of these/ 319 & =13 &t

Explanation: Pictorial representation of data
using symbols is known as Pictograph.

FRAT: Tciieh! ol STANT Fleh ST T e Tdffered
IEERICE RS IE RS

127. On childrens’ day, sweets were to be
equally distributed among 160 children in a
school. Actually, on the children's day 40
children were absent and therefore each child
got 10 sweets extra, Total number of sweets
were?

oot ford W e # 160 el % S qAE ®T
Tt widt St offl avee 7 s faww w40 s
IR 9, frad FOr T&4w w9 H 10 e

Fferen forefil foraTeat it e v of:
a. 3200 b. 2400
c. 4000 d. 4800

Explanation: let, 1 child gets = x sweets

160 children get =x X 160 = 160 x sweets

“* 40 children were absent = 160 — 40 = 120
Number of sweets = (x + 10)

According to question-

160x = 120 X (x + 10)

4x = 3x+ 30

x =30

Hence, Total number of sweets = 160 X 30 =
4800

AT O AT, | =l o = x H3rE et @
160 STt a1 98 = xx 160 = 160x f21E

" 40 Sl SFTARAT o = 160 — 40 = 120
ToraTgat & we = (x+10)

TIH, 160x=120%(x+10)

4x=3x+30

x=30

Fa:, T3t i et W = 160x30=4800

128. The quadrilateral whose all sides are
equal and angles are equal to 90 degrees, is
called:

g aqet fore it e w g 3R Hor 90 feft
I8 FATHE 87

a. Rectangle/ s1id

b. Square/ =

c. Kite/ Tdt

d. Parallelogram/ ¥R 4

Explanation: The quadrilateral whose all sides
are equal and angles are equal to 90 degrees is
known as square.

STGAT: T8 =T forehl Tl il sITrert & AT 10T 90
feft = =1, ot sreetrar 21

129. Which among the following statements is
not true?

Terferfaa o & 1 o1 A T T 82

a. The centroid of a triangle divides each
median in the ratio 2:1. / BMS %1 ¥ T&F
TRt i 2:1 3 ST & forTford s 2

b. The perpendicular bisectors of the sides of a
triangle are Concurrent. / BIst % YSTAl o @
qufgrsTsh T feig wt firerd &

c. In a right angled triangle, the circumcenter is
the mid-point of the hypotenuse. / T HHHIT
Tt #, aftehz o1 %1 7t fofg 2 2

d. The angle bisectors of a triangle are not
concurrent. /ﬁgﬂ%aﬁwmﬂwwﬁgmﬁ
el
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Explanation: In option (a), the centroid of a
triangle divides each median in the ratio 2:1 is
correct

In option (b) the perpendicular bisectors of the
sides of a triangle are concurrent, which is also
correct.

In option (c) In a right-angled triangle, the
circumcenter is the mid-point of the
hypotenuse is also correct.

In option (d) The angle bisectors of a triangle
are always concurrent, and they meet at the
incenter of the triangle.

Hence, option (d) is not correct.

SREAT: T (a) H, T B[S 1 ek Sceh HTTeeh! 1
2:1 % AT 7 ferdmiora e 8, Wt 8

Tk (b) H e ISt o6t VST o Shererd ST TSR et
B & S |t oft 7l

forareT (o) H wh Wi st , ks st st wea-fofg
g A wdi 2

forered (d) 7 Progst 3 shior wmferers ghem sife 8 €
gafer, fohed (d) ot 7 2

130. The price printed on a fan is Rs.2000/- and
the shopkeeper allows a discount of 8% on it.
What will be the selling price of a fan.

v W gfid i 2000 T ¥ AR THAER T W 8%

i e a1 8 T forerr e A g
a. Rs 1260 b. Rs 1840
c.Rs 1730 d. Rs 2160

Explanation: Marked Price = 2000
Discount = 8%

Discount = 2000 X % = Rs.160/—
We know that,

MP — SP = Discount

2000 -SP =160

2000 -160 =SP

Rs.1840 = SP

SRGAT: 3{fehd 7o = 2000
FT=8%

8
B = 2000x— =%.160/-
= 100
Y 98 SIHd 8,

SHfoRe 1 - forar T = g2
2000 - forsha e = 160
2000 - 160 = forsha 7e
%.1840 = forsrar 7o

131. A circle of maximum possible size is cut
from a square sheet of board. Subsequently, a
square of maximum possible size is cut from
the resultant circle. What will be the area of
the final square?

TF B S T e & STRehan U ATHR H
I T TN ek oG, TRt g9 & SAiteRaw @y
JATHR HT TH 1 HIT WM Al T 1 &b R
B

a. 3/4 of original square. /ugraﬁw 3/4
b. 1/2 of original square. / %o &1 1 1/2
c. 1/4 of original square. / q&1 a1 #11/4

d. 2/3 of original square. /ugraﬁw 2/3

Explanation:

a

Let, side of big square = a

Area of big square = (a)? = a?

Diameter of circle = a

Radius of circle = %

Now, diameter of circle = diagonal of square
a =Diagonal of square

*» Diagonal of a square =2 X side

a =2 x side
ide = —
si N
Now,
a\? a?
Area of final square = (ﬁ) =

STEAT: AT, &S & ol ST = a
o Tt a1 &t = ()2 = a?
JadBIIAE =a
ﬂﬁﬁﬁ?m:a&
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TS, I T ATE = 1 a1 ferehut

a:a"'fﬁh"r%liﬁﬂ'f
2 ot o ot = \2xqer
a:\/ZXﬁTrIT
_
7
A,
. a\? __a?
ifom ot 1 &wet = (ﬁ) =5

132. The range of the data 30, 61, 55, 56, 60,
20, 26, 46, 28, 56 is:

T 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 FT AV
wTR?

b. 30
d. 61

a. 26
c.41

Explanation: Range = highest value — lowest
value
=61-20=41

SREAT: SMH = I=dq Hed - =FFaH 3o
=61-20=41

133. A batch of mangoes was packed in 25
boxes with 20 mangoes per box. If the same
batch is packed using 25 mangoes per box,
how many boxes would be filled?

T 3 Tk WO T 25 Sl & Yep ForaT TRIT, Wedkah st
T 20 31 N 7fe IEh TogE i 25 T Wi o F feww

A U o T, Y fohemY st s ST
a. 10 b. 30
c. 40 d. 20

Explanation: 1 box contains 20 mangoes
25 boxes contain = 25 X 20

=500 mangoes

But 1 box contains = 25 mangoes

Number of boxes required for 500 mangoes =
500

22 =20

25

AT | fessl 3§ =20 3 &
25 fess § = 25%20= 500 319
AAfor, 1 fesa T = 25 s &

500 3TTHT o ToTT STTI9Teh ST shi §&AT = 500/25=20

134. In a cylinder, if radius is halved and height
is doubled, the volume will be?

TF I #, Afs Bisar et & & S i FaiE &%

QT R fa ST, i e g
a. same b. doubled
c. halved d. four times

Explanation: let radius of cylinder =r
Height of cylinder = h

Volume = tr?h ... (i)

But,

Radius is halved = 1/2

Height is doubled = 2h

2
~ New volume =1 G) X 2h

r? 1
=—xX2h==nr*h
4 2

Hence, New volume is half of volume of
cylinder.

HRAT: T e & Bsar=r
S A HAE =h

SIEZH

ﬁ@TWﬁﬂﬁ:rQ

FeITS G 81 TS = 2 Tt

B (5)2 x 2h

= ETTZ X 2h = %nrzh

S, AT SIS 3 STTF hT ST R

135. What will be the "one's digit" in the
square of 1234?

1234 ot 3 " gohd T ST 3k AT B2
a.6 b. 2

c.8 d.9
Explanation: (1234)? = 1234 x 1234
- Square of one’s digiti.e. 4 = (4)? = 16

sre: (1234)2 = 1234 x 1234
- foret % a7 ot vt 4 = (4)2 = 16
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136. The height of a cylinder whose radius is 7
cm and the total surface area is 968 cm? is:

W ST Y FaTg foRat 8, Foradht e 7 Sl st g

HAT A% 968 T AHT B?
a.15cm b.17 cm
c.19cm d.21cm

Explanation: Radius =7 cm

Let the height of cylinder be x

TSA = 968 cm?

As we know,

TSA of cylinder = 2nr(r + h)

968 = 2 X = X 7(7 + x)

22=7+x

22—-7=x=15=x

Hence, the height of a cylinder is 15 cm.

ST e = 7 &t

Trqet et et = 968 cm

ST o &1 T €,

Toretet =t vl qEt e 27 (4 h)
968 = 2 X = X 7(7 + x)
22=7+x
22—-7=x=15=x

3T, ST I g 15 | 2

137. The angles of a quadrilateral are in the
ratio 6:7:8: 9, then which of the following can
be concluded?

AT F R 679 F I H S, A= F R
T ar frshe fehreT ST weRaT 82

a. Exactly two angles are obtuse/ 3t &I o
obtuse &

b. Two pairs of angles are supplementary/ o
o SIS qTh ©

c. Both A & B/ HT A 3R B

d. None of these/ 394 & IS el

Explanation: let the ratio be x,
Angles of a quadrilateral are 6x, 7x, 8x, and 9x
As we know, sum of all angles of a quadrilateral

=360°

6x + 7x + 8x + 9x = 360°

x =12

~ Allanglesare=6 X 12,7 x 12,8 X 12,9 x 12
72,84,96 and 108

~ From the given options, both options (a) and
(b) are satisfied.

TGN T 371 x &

@a@\{a%ﬁm 6x,7X,8X%, IT9x &

St foF &1 ST €, IS o &l i 1 A0 = 360° €T 8
6x+7x+8x+9x=360°

x=12

o mfT I = 6%12,7x12,8%12,9x12

72, 84, 96 37T 108

. faw e fereredtt 7 &, AT forped (v) 3 () wqe 8

138. The smallest number by which 2560 must
be multiplied so that the product will be a
perfect cube.

TR TR S FE&Ar 7 2 fw@ 2560 F T F+HEAT
ST ek T8 U e T e 22

a. 35

b. 25
c.8 d.5

Explanation:

2560

1280

640

320

160

80

40

20

10

5

1

Factors of 2560 =2 X2 X2 X2 X2 X2 X 2 X
2X2X%X5

To make it a perfect cube,
Multiplied it by 5% 5
unpaired.

IINININININININININ

i.e, 25 because 5 is

2 | 2560
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1280
640
320
160
80
40
20
10

5

1

NININININININININ

SEAT: 2560 F TGS = 2x2x2x2x2x2x2x2x2x5
T U Y01 5 S o [T,
TH 55 T T L HATA 25 Fifh 5 IIFAA 2

139. The shifting of a number from one side of
an equation to other is called?

ek GHIHOT o Ueh TE & E v I YA Ht Siaie
T h T el ST 87

a. Transposition/ ZEUIIH
b. Commutativity/ JeaTad=

b. Distributivity/ farazor
d. Associativity/ @Te=riar

Explanation: The shifting of a number from one
side of as equations to other is known as
transposition.

& W%q&sw@aﬁwﬁ%ﬁé@naﬁﬁ
ST SRl TR Shel ST 2l

140. To draw the graph of a line, least number
of points required?

et @ w1 ae dien & g SEen e fig

AT B &7
a.one/ TH b. two/ 2
c. three/ &= d. four/ I

Explanation: To draw the graph of a line, at
least two numbers of points are required.

SYGAT: U @ 1 T Efer o o 5w & 5w a1 foigai At

SATITHAT Bl 2l

141. What is the sum of all angles of a
hexagon?

T & W IV AT ATTES T 82
a. 180° b. 360°
c. 540° d. 720°

Explanation: In hexagonn=6

As we know that, sum of all angles of a hexagon
=(n—2)x180

= (6—2) %180

=4 x 180

= 720°

TEAT: ﬂ'dfl'ﬁUTﬁn:6

ST foF B9 ST €, Teh ST o |l hIvlT o1 AT
= (n—=2) x 180°

(6 —2) x 180°

=4 x 180°

= 720°

142. Which of the following numbers is not a
perfect cube?

PR 3 & o e g O ot o T 27
a. 333 b.1728
c. 1331 d. 729

Explanation: 333 is not a perfect cube, as other
option b, c and d are a perfect cube.

As, 1728 = (12)3

1331 = (11)3

729 = (9)3

Hence, option (a) is the correct answer.

SRGAT: 333 Tsh Y01 5 &1 &, Fifeh 31 faehed b, ¢ 3 d
T ol o &

1728 = (12)3
1331 = (11)3
729 = (9)3

o7, forshed (a) Tt SR

143. Every counting number has an infinite
number of?
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T A aTelt G § o Gear i F T ad 82

a. Factors/ T[T
b. Multiple/ TrEs
c. Prime factors/ 31372 TUTih

d. None of these/ 378 & =S &

Explanation: Every counting number has an
infinite number of multiples.

STEAT: s [T ST § 7 S H Tl a1 @

144. How many digits will be there in the cube

root of 464567

46456 % SR 9 foRa e BRI
a.2 b.1

c.3 d. 4

Explanation: Prime factorization of 46656 =
26 x 3¢
=2X2X2X2X2X2X3X3X3Xx3X
3X%X3

=2X2X%X3%x3=36

Hence, 2 digits are there in the cube root of

46656.

HRGAT: 46656 T 317 TorEed = 26 X 3°
=2X2X2X2X2X2X3X3X3X3X
3X3

=2X2%Xx3%x3=36
3, 46656 F FT H 2 31 g

145. Let abc be a three-digit number. Then abc
+ bca + cab is not divisible by?

W?ﬂﬁl{ abc T T 3Rt Y GEAT 81 A abe + bea +
cab fore@ fvear i @

a.a+b+c b.3
c. 37 d.9

Explanation: abc = 100a + 10b + ¢
bca = 100b + 10c + a

cab =100c + 10a =b

Adding these three equations—

abc + bca + cab = 111a+ 111b + 111c
=111(a+ b +¢)

-+ Since factors of 111 are 3 and 37
~abc+bca+cab=3%x37X%X(a+b+c)
That means, it is not divisible by 9.

SYRAT: abc=100a+10b+c
bca=100b+10c+ a

cab = 100c + 10a=b

S T FefieRoTt T STred §u-
abctbcatcab=111a+111b+111c
=111(atb+c)

= 111 FoMEs 3 K378
. abctbceatcab=3x37x(at+b+c)

THHT aois I & for 78 9 @ forrsa 7 R

146. The number of parts the coordinates axes
divide the plane is?

fcsrien et ST aa B foRaw wemt § fanfsia femm
AT 8?

a. Two parts/ &l 9T

b. Four parts/ I 91T
c. Six parts/ 8 91T

d. Eight parts/ 3113 9T

Explanation: As we know,
In a carterian place, the coordinate’s axes divide
the plane into four parts.

AT 97 foh 81 ST 8, e e W, Féwries
ot fomT ot =  ferfra et 21

147. Which of the following can't be a perfect
square:

& ot

a. 841
b. 529
c. 198

d. All of the above/ 3Tk Tsft

Explanation: 841 = (29)?
529 = (23)?
But 198 is not a perfect square as factors of 198
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are2 X3 x 3 x11.

AT 841 = (29)?

529 = (23)2

AR 198 W quf T el & Hifeh 198 o UMES 2x3x3x11
g,

148. Latika bought a teapot for Rs 120 and a
set of cups for Rs 400. She sold teapot at a
profit of 5% and cups at a loss of 5%. The
amount received by her is?

AferehT = Toh TREH 120 93 T 3T 4 T A 400 T
T TlEn 3 TREH H 5% A W 3R F A 5%

BT 9T s 38 e T ferat 2
a. Rs 494 b. Rs 546
c. Rs.506 d.Rs 534

Explanation: CP of teapot = Rs.120
CP of set of cups = Rs.400
Profit at teapot = 5%
Loss at set of cups =5%
Selling price of teapot = 120 X %(5) = Rs.126
Selling price of set of cups
=400 X - = Rs. 380
100
Hence, the amount received by her,
=Rs.126 + Rs.380 = Rs.506

SRGAT: =TT ] AT Jed = 120 59

T o H T 4 e = £.400
SRS WA = 5%

U o U TR = 5%

TR T o5R 7 = 120%105/100=126 T
T o H T forshel g4 = 400x95/100-%.380
3, 38 ITH AR = 126 TG + 380 TR = 506 TR

SECTION ‘E’ -

149. The ratio of 10m to 10 km is:

10 Hiex & 10 Fopciiex T SFguTa 41 82
a. 1/10 b. 1/100
c. 1/1000 d. 1000

Explanation: 10m: 10 km

As we know, 1 km =1000 m
0 1

101000 1000

SRAT: 10 Hiew: 10 Tt
S foh g1 STHa €, 1 fort = 1000 Hiex

10 1

101000 1000

150. The multiplicative identity of rational
numbers is:

TiE BT T U St T 87
a.o b.1
c.2 d.-1

Explanation: Multiplicative identity of rational
numbers is 1 because when we multiplied
rational number it gives the same number as

the product.

. P j2
ie,—X1=-
q q

Hence, 1 is the multiplicative identity.

TG TR AT 3h TUTeHe T8 = | & i1k Sie &
TG T S U S & 1 A8 IS o HHI ST STH
AT 2

P

wﬁ,le:E
Hd: | TOTTCHe FHHeH el

SCIENCE

151. In the male human, sperm contains 22
pairs of autosomes and?

o9 TG 3§ YR 22 SIS SR B § 3

a. A pair X-chromosome/Q‘cFTvﬁE,T X-shIHEH
b. One Y-chromosome/ T Y-shiHTE™

c. A pair of Y-chromosome/ T SISl Y -ShIHTEH
d. Three X-chromosome/ @ X-sharam

Explanation: A sperm cell in a male human
contains 22 autosomes and one sex
chromosome, either X or Y.
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REAT: W TS A, TF SIS aRgEn, 7 T8
feeett &t AeFT TATE| 3T fomy w7 ¥ T8 fooelt i
AT SR 8T o STEEE B8 o fesiied & fag s
AT 81 S« ffes 7 9Ira i TS F e o
faeft wermidfed s a1 fofar foram, ot qfeam it &l
R TooTet el 3 U Toey st 31eRm feam|

152. The epicentre of an earthquake is?
T T ITHE BT &

a. In the core of earth/ gt & ®R &

b. On the surface of earth/ qedt &t &ag ©
c. In the middle of earth/ 9eaft & wea &

d. None of these/ 378 & IS 7€t

Explanation: Epicenter isthe location on the
surface of the Earth directly above where the
earthquake starts.

STEAT: THHT 98 T BIAT & S geafl i &g ot |er
SH T o SIS & STel Yohd I[& Bl 2l

153. The stars forming a recognizable shape is
called?

AR HT T T AT STHR FETral &

a. Constellation/ &=
b. System/ d

c. Galaxy/ SATRRET
d. Asteroids/ §sT8

Explanation: A constellation is a group of stars
that appear to form a pattern or picture, such
as an animal, person, or object.

SREAT: FEFAHSH AN 1 U e a1 & Sit fohet oy
et o & 1 fa@Ts <aT 2, S s S, =, 31 o)

154. Lowest temperature at which a substance
catches fire is known as?

IE G 9 A S 9 RS gere AT geRe §,
HEATAT &

a. Lowest temperature/ =ITqH qTaHT
b. Burning temperature/ﬁ?«ﬁww
c. Ignition temperature/ ISac d9HETT
d. Flaming temperature/ 3& a9

Explanation: The lowest temperature at which
a substance catches fire and starts burning is
called its ignition temperature.

STEAT: I8 =[AaH AT [STH T i3 Tarel STt 3TRT
ThSAl & SN SO & HAT B, I IWHT TSaerT
TATIHT ST ST 8l

155. Magnesium burns to form?

i Se WA e

a. Calcium Carbonate/ Ffe3rm srei-e
b. Magnesium Oxide/ Bif¥em fiadmss

¢. Calcium Oxide/ hfeIrm SHTadTES
d. Magnesium Sulphate/ &=ifsem Tethe

Explanation: When magnesium burns, it reacts
with oxygen in the air to form magnesium
oxide, a white powder that releases heat and
light.

AT S IR Soar ®, 9 98 g1 ° Sufkerd
TS o T TR ohich BT SATHTES SATaT
2, ST Uk O%e USSR BIaT © IR 369 THT ST wehTer
Scu=T Bl 2

156. When a copper vessel is exposed to moist
air for long, it acquires a dull green coating.
The green material is a mixture of?

I« i & T T S T qF A9 &1 b Geh @
T ], O ST W TT H Wa o9 It 81 T8 5 92qref
i dar?

a. Copper oxide and Copper Nitrate/ 34X
TS 3T I AL AT

b. Copper hydroxide & Copper Carbonate/ shiut
TTESHATES ST BT KIS BT

c. Copper carbonate and Copper sulphate/ X
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FHTelTE 371 I Th H

d. Copper hydroxide and Copper Nitrate/ X
TIZSIHATES 3T U ATEE HT

Explanation: The green coating that forms on a
copper vessel exposed to moist air for a long

time is a mixture of copper carbonate and
copper hydroxide.

SGAT: Tl o T T ST &0 ST ST & STel 39 il
[y Tk H d1g o e H T ST €, F8 die hiaie
IR i EISSTeRATSE ohT forsror Erem 2

157. The nature of image formed by plane
mirror is?

THAS VT ZRT TS 715 Sf hl THid Bl &

a. Real and inverted/ ar=ifeeh 3R 3Seret
b. Virtual and erect/ 3Tt 37T Hieft

c. Real and erect/ ar&dtareh 37T dieft

d. Virtual and inverted /3Tt 3R 3eret

Explanation: The image formed by a plane
mirror is virtual, erect, laterally inverted, and
the same size as the object.

STEAT: diel o s 9L ST U SATIR0T ST © STl 39 el
T T T 1Y O H @ Sl 8, 9% el FEe
SR AT EISSRTES Rl fHrroT Bielt 2

158. Bacilli are the bacteria that are?

et 3 AR SN AT S

a Rod-shaped/ -3 &
b. Comma-shaped/ HHT-3THR &

c. Curved—shaped/gﬂwmaﬁ
d. Spiral/ @fie
Explanation: Bacilli are rod-shaped, Gram-

positive bacteria that form endospores and are
either aerobic or facultatively anaerobic.

RAT: ST I JHIET & ST B F ATHR &+ B |,
UH-GTfSIfeer BId 2, TSRt ST &, 31 3 at smei an

JehioTsh &Y ¥ HIE B 2
159. Metal oxides are?
CIGRCIC SRR

a. Neutral/ de&

b. Basic/ &R

c. Acidic/ 3Tt

d. All of these/ 378 & Tft

Explanation: Metal oxides are basic in nature as
they form salt and water as the products when
reacted with dilute acids.

TEAT: H1q o 15 ST THE % Bid & Hifh I
del 3TFAT o 9 ATAfshaT ik Aaur 37T ST Icd—T
Fd Bl

160. Cell wall is found in?

EAINEIRE IS RIS IGINS

a. Plant cells only/ et q1eq shif3TehTsti &
b. Animal cells only/ et SI=] IfTeRTaAl 7
c. Both (a) and (b)/ (a) 37T (b) AT &

d. None of them/ 378 @ forefl & 7t

Explanation: Cell walls are found in plant cells,
some fungi, bacteria, and algae.

AT FHIRTHT S drdl R, Fo E,
ST 3R Sare § e STt &)

161. Amit observed various types of cells. He
reported largest vacuoles in a:

St Y v were i FifRrR #r i fRm
IEi ged oSt fehepT ITS:

a. Animal cell/ﬁﬂaﬁﬁ'ﬁﬁrﬁ

b. Virus/ a=@ &

c. Plant cell/ area shif3mep &

d. Prokaryotic cell/ Tt fifeeh shifsrent 4

Explanation: Amit observed the largest
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vacuoles in a plant cell. Plant cells have larger
vacuoles than animal cells. In fact, a plant cell's
vacuole can take up nearly 90% of the cell's
volume.

SRGAT: AU 7 Gl =t IRt T Torg o1 fifhanT 2@
arel IR U] HIRERS % qEE a9
Tif<herT 810 81 TTEW, UF el st hif3TehT st fifhem
T 90% T HITITehT ShT TTAT hT BT Tk 2

162. Weeds are controlled by chemicals called

TTER N T F F e wmrRE o ET)
2

a. Pesticides/ eI

b. Fungicides/ %fiaTss

c. Weedicides/ di€tamge
d. Insecticides/ SIS

Explanation: Weeds are controlled using
chemicals called weedicides. A common
example is 2,4-Dichlorophenoxyacetic acid (2,4-
D).

SRS TAIRI okl FEd i o fofe St e s
fohU STl €, 37 EAe 19Tk (ATSETeed) el ST 2|
T AW IS 2, 4-SHaFfibIad gl es ufEs
(2,4-D) R

163. The non-metal which is liquid at room
temperature is:

TE ST ST 3 AT TR AR ST | BT 8

a. Carbon/ &
b. lodine/ 3R
c. Bromine/&ﬁtﬁ?
d. Chlorine/ FiA

Explanation: Bromine is the only non-metal that
is a liquid at room temperature.

STEAT: ST THAT -4Tq & S AL % A T e
ST BT 2

164. In which process of plant carbon dioxide is
converted into oxygen?

et & fora aferar F wEl SERiiwEEe SiEdfsa §
giafde war &2

a. Photosynthesis/ JeRTaT How0T
b. Transportation/ aftaa

C. Transpiration/érrsqsraﬂlﬁ:{
d. Respiration/ 98-

Explanation: Photosynthesis is a process that
uses sunlight, water, and carbon dioxide to
create oxygen and energy in the form of sugar.

STEAT: THRIET0 U 6T & s & a1 wehe,
T 3T e SEHATFIEE T ITANT e TS
IR Tt (=fit 3 w7 7) w1 fmfor rar 21

165. The Pachmarhi Biosphere Reserve in
Madhya Pradesh consists one national park
named:

e YouT H Yuiel STRehRR fetd & uh Ui S
et & forer w2

a. Bori/Eﬁ'F(

b. Satpura/ @daqst
c. Anand/ 3Hg
d. Dudhwa/g‘%il?ﬂ

Explanation: The Pachmarhi Biosphere Reserve
consists of Satpura National Park along with
Bori and Pachmarhi Wildlife Sanctuary.

AT TG SaHed S & § waqel T
I, S 3R T TS STIIOT ST B

166. In the sun, light and heat are produced
by?

T YT S AT T 3T g €

a. Chemical reactions/ TEmafeh gfafsramsti @
b. Nuclear reactions/ oty Sfafsramsti &
c. Burning reactions/ & Sfafsramst &
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d. Bunsen burner/ S/ ST H

Explanation: The sun produces light and heat
through nuclear fusion reactions in its core.

AT G A BRI H GO e SidisRarst 6
HTEAH § TehTeT 3T ITHT Scq=T LT 2

167. Rhizobium (a Bacteria) which fixes
atmospheric nitrogen are found in nodules
growing in?

TSR (T S it agHse TEge #i Rer
FIATE, MY &

a. Roots of leguminous plants/ ®fe/=T & dieT =t
ek

b. Leaves of leguminous plants/ ®fetat o diet shi
gt o

c. Stem of Leguminous plants/ it o e & d=1
ﬁ.

d. All of the above/ 3w is @xft &

Explanation: Rhizobium bacteria are found in
nodules growing inthe roots of leguminous
plants.

SAGAT: TsSiiferad S aoed drei i st #§ I
EISRICIR: RIS IS A
168. Internal fertilization takes place?

Jiafes e aar e

a. Inside male body/ 7 % IR & 3ieT

b. Inside female body/ ATeT 3 YRR & et
c. Outside female body/ TTeT & IXR & &L
d. Outside male body/ 7% % IR & =&t

Explanation: Internal fertilization is a process
that occursinside the female body when a
sperm and egg fuse.

RGAT: i = U gfsrar & S Afer Tt &
3aT Bt 2, STat Yh1 3R 3] firerd &

169. Friction can be reduced by:

ST skl 9 ToRaT ST TehaT &

a. Using lubricants/ =&k =T 3T ieh

b. Polishing/ diferst e

c. Using fine powder/ STies IT3eX T SUANT hich
d. All of these/ 3T @+t &

Explanation: Friction can be reduced by using
lubricants, using fine powder and polishing
surfaces.

SIEAT: T80T I FH RIS gehar @ s 33 e
UETIT T SYANT ek, HEIT UISST T SUANT Hhich 3N
AR ohl UTIAST Shiahl

170. Organic wastes can be decomposed to
form , Which can sustainably enhance
the nutrient content of the soil.

A FRH TR F fag el e s
Fehdl 8, St il & diwek dcal o s s @ o191
Hepar 8l

a. Compost/ah‘ﬂﬁ"v‘{lT;I'I'c‘r
b. Cow dung/ TsX

c. Fertilizer/ 35t

d. Pesticide/ FhieAmTe

Explanation:  Organic  wastes can be
decomposed to form compost, which can
sustainably enhance the nutrient content of the
soil.

STET: Siforeh el ! fomrfed sk @re s 1 S gehdt
2, S Tt o ok qeat i Tl S add § 9 9
ehd] 2l

171. A student wants to make a model. She
needs a hard material that can be bent and can
be made into a thin sheet. Which material
should she pick?

T ST G Hige ST STedt 81 I& T A vare
TR ST 75 Tk TR TSR wered <ITet # S ST &kl S8
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o el ot s AT =R

a. Chalk/ =k

b. Aluminum/ Tegfufam
c. Paper/ =it

d. Rubber/ TR

Explanation: Aluminium is the best for folding it
can be bend easily and this is hard also and
there are so many thypes of aluminium like thin
also it is there and hard also and fat also.

AT U H{oH Herdl 31 91q @ for HigT ST Hehelt
21 T8 ST & 7S Wehell &, HStel +ff Bl &, 3 38
T YR g1 €, St fof o, e 7R Hier +ff

172. Which instrument is used to measure
earthquake?

VT T AT % for forer ot ot Sl o S 22

a. Richtograph/ feams

b. Seismograph/ fa=amms

c. Polygraph/ diciium®

d. None of these/ 378 & IS 7€t

Explanation: A seismographis the instrument
used to measure an earthquake.

AT THeioT o8 75 @ e ST 9ok shi JTad

% foru ferar smaT 21

173. Mouldable plastic like Polythene is an
example of-

TieSsTel s S dieitefi i Serer &:

a. Biodegradable substance/ Sia qere=1 yeref
b. Thermosetting plastics/ YA wATiiesh

c. Thermoplastics/ eHTeerTieh

d. Rayon/ @™

Explanation: Polythene and PVC are examples
of Thermoplastics.

SREAT: Ureitefi 3T fieftet emieeriicsy o 3=t 8|

174. Egg are formed in the?
ey 1 fmfor Sar 3

a. Testes/ 3z o

b. Penis/ fem o

c. Ovary/ 3iewa d

d. None of these/ 378 @ &1 7€t

Explanation: Eggs are formed inthe ovaries,
which are small, oval-shaped glands located on
either side of the uterus.

TEAT: S HESRAT H 914 €, 9l DI, HSTHT HATHR
3 o Bt § ST mvifrr 3 gl ST feerd Erelt 8

175. Which chemical is used in the rubbing
surface provided for matchsticks?

it &t dieft H e Tt gag § frw wRE @ v
ST foRT ST 82

a. Sulphur/ 9e®t

b. Gold/ |t

c. Red phosphorus/ AT HIEGRRE
d. White phosphorus/ T%e HERITE

Explanation: The rubbing surface of a matchbox
contains red phosphorus and powdered glass.

AT ATE T feosfl I Tred areft ddg ¥ o
EEHI 1T i 31T ki &iar 2

176. PCRA stands for:

PCRA T YU M 8

a. Public Conservation Research Association/
YfoeTeh shoiavT 0 THITEu

b. Petroleum Conservation Research

Association / U2 sheae fEe Tafeee

c. Public Council of Research Association/ fscteh
Frstaa i fae wafaeee

d. Partial Counting of remaining Amendment/

Y HIME <hY A7TTeR T

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE ——

Explanation: PCRA stands for Petroleum
Conservation Research Association. It is a non-
profit organization in India that promotes the
efficient use of energy in various sectors of the
economy. The government of India established
PCRA in 1978 under the Ministry of Petroleum
and Natural Gas.

WAL PCRA T qU T UZITeRm SHefor STgeer
ST B I8 WRA H TF W-AWFRT @1 B S
sreferaeer & fafv &=l #§ S o FRe I
FETAT T & T TR A 1978 § USIforem TR Sahfash
g HATeT o ded PCRA T €TaAT & off|

177. Which of the following gases is needed by
plants for photosynthesis?

Trferfaa o & et = yerrer w@sgwor % fore forg g <
SATITIHAT Bt 87

a. Oxygen/ TS

b. Nitrogen/ ATgZIS=

c. Carbon Dioxide/ ShTe ST3ATHTES
d. Sulphur/ g%t

Explanation: Plants need carbon dioxide for
photosynthesis. Photosynthesis is the process
by which plants convert sunlight, carbon
dioxide, and water into glucose and oxygen. It
occurs in chloroplasts using the pigment
chlorophyll.

SHREAT: U} Rl TehTeT T80T o oI shrel Srgaiimmse
T SATTTIRAT BT 21 T HoIN0T I Wishar & forew
It g o YeRIRT, Hle SIEHTRAIES S AT § Tehist
3R ARSI A & T8 FARRE | FARIB sl
HeE U B 2l

178. Neptune has very low temperature due
to:

O T A Sga 1 & FMTh

a. Glacier on its surface/sﬂﬁﬁwmﬁﬂ@?—‘;’%
b. Presence of oxygen/ SATaiS i Iufefd &
hI{0T

c. Far distance from sun/ﬂﬁﬁﬁgﬁﬁﬁ%ﬁ%w
d. Huge amount of ice/ W&t AT & % B4 3 SR

Explanation: Neptune has a very low
temperature because it's the farthest planet
from the sun and receives very little heat from
it.

SWEAT: H= T A9 S5 ¥ Bidl & Hifeh I8 94
Ha UIE © ST 30 9 & gd - T el 2|

179. By-product obtained after processing coal
is useful in manufacturing plastics. synthetic
dyes, naphthalene balls etc. The by product is

A o TR % 1S TTH Tk IT-3UTE S AR,
FHm {1, Aooef g el & fwior & swivft v 2, 57
?

a. Coal gas/ F1ga g

b. Coal tar/ ®idT <R

c. Coke/ ®ish

d. Paraffin wax/ 3fth Jad

Explanation: The by-product obtained after
processing coal that is useful in manufacturing
plastics, synthetic dyes, naphthalene balls, and
more is coal tar.

RAT: FHII I GATIT L 6 o8 ST 3T-3cqTE ITH
Icq1ET 3 FHTor 7 Su=) Brar &, 98 Hieiarn 2|

180. Noise pollution causes:
& ST HT HRUT 7T &:

a. Lack of sleep/ g &t &t
b. Hypertension/ 3=a &had
c. Anxiety/ far

d. All of these/ TR &t

Explanation: Noise Pollution can cause attacks
of stress, fatigue, lake of sleep, hypertension,
depression, anxiety and hysteria in both

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE ——

humans and animals.

SREAT: Eal JET0T WG e, Fehree, e shi i,
I=d T, SFawre, fear ot fewefan S& g9 3aa=
H THAT 8, ST AT S SR ST T 376 STed 2

181. Rocket works on the principle of
conservation of:

Jiohe F1E HAT R:

a. Conservation of mass/ FeHT €T&I0T o figid w
b. Conservation of energy/ &It €2&0T & fH&id T
c. Conservation of momentum/ EaT TEAT &
frgiaw

d. Conservation of velocity/ 3T & fogid ™

Explanation: A rocket works on the principle of
conservation of momentum. As fuel is expelled,
the rocket gains momentum in the opposite
direction, propelling it forward.

SGAT: Teh Uohe T oh HL&TUT o FHgid X T8 LT &
Tehe TIfr o1 WX&T0T o fogid W 19 AT 21 ST $U
STeL fHehTet StTar ®, af Tene faratia fewm o wfer um shar
2, @ 9% 31 srear 2

182. In sitar sound is produced by:

AR d afrsa= @i ?

a. Streching Strings/ R Gi=e &
b. Rubbing/ TTe3 &

c. Blowing/tifrﬁﬁ

d. Beating/lﬂﬁﬁ

Explanation: The sound in a sitar is produced
by the vibration of the stretched strings on the
instrument. The musician plucks the strings to
produce the desired sound.

SREA: fdr & eaf 38 @ o Effl g8 aqel & o |
3= BT 2 WA dqel i Wi greed et
Ieq~ L 2

183. The substances which have very low

ignition temperature and can easily catch fire
with a flame are called:

3 vare} et SIsae qIonT Sgd A diar @ R S
T & T TS T 6, FeAld o

a. Inflammable substances/ Sactfiet gaTet
b. Flaming substance/ Stetsiiet geref

c. Fireproof substance/ 31frerss vt

d. None of the above/ 3UE & & IS Tal

Explanation: Substances that have a low
ignition temperature and can easily catch fire
with a flame are called inflammable substances.

STEAT: 3 YT ST TSoel dTaH oA BIaT & 3 S
AT | A I Uhg Hehd 8, 38 S gered
BT 7T &

184. The sex of child depends on the:

e T o et @

a. Blood group of mother/ AT & T &9 W
b. Sperm of father/ faT % T T

c. Blood group of father/ fiaT & T &Hg ™
d. Ovum of mother/ #f & e w

Explanation: The sex of the child depends on
the male chromosome, which is transferred to
the offspring. This happens because males have
a mismatched pair of chromosomes XY
responsible for deciding the sex of the child.

STET: o= [ [T T8 A 9 9T T g, S
HAT H T T € € 36 HR0T el & fob qowi o
XY SHIHIEIH ol Ueh STETd ST BIdT &, S o=l o fofmr
a1 frrerteor e 21

185. Pitch of sound is determined by its:
e it e Frifa @ &:

a. Frequency/ A &
b. Speed/ Tfa &
c. Amplitude/ @ &
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d. Loudness/ disrar &

Explanation: The pitch of a sound is determined
by its frequency, which is the number of
vibrations per second. Sounds with higher
frequencies have higher pitches, while sounds
with lower frequencies have lower pitches.

AT waf T Ieaan () suehr st g freffa
Bl 8, S it Tehe s i He Bt 21 3= St
et eEtEt I U= i Bt 8, SEfeh e AR
et et e o oy gt 2

186. Which of these is a well-known migratory
species?

T & P T TS Jaret St 22

a. Golden finches/ TMiee fhar
b. Albatross/ JAcsTeiF

c. Dodo/ ErEt

d. Archaeopteryx/ 3T iEd

Explanation: Migratory Birds - Some birds
migrate to our country in the winter season
every year such as Albatross, Pelican, Siberian
Crane, Stork, Flamingo, Pintail Duck, Curlew.

v v veft T ueft v A WAl % e 5
FHN ST H Yo id & S8 Seae, Ufcre, argafET
o, AT, FATHT, fieet 5ok, heidl

187. The other name of cell membrane is:
AT f3reett 1 qQT T E:

a. Plasma membrane/ wTsHT fereett
b. Cell wall/ sif3rert firfa

c. Nuclear membrane/ TR fereett
d. None of these/ 370 & 1S 7

Explanation: The cell membrane is also known
as theplasma membrane or cytoplasmic
membrane.

o o

ST ISR fooet & wisar fEeet @

argereeATtsnh et off et ST 21

188. The chemical substances rich in nutrients
are called:

e qedl & W THTAeh TaTe Fead &

a. Fertilisers/ 39t

b. Weedicides/ diEtrge
c. Pesticides/ ShieTeTeh
d. Herbicides/ gsffarse

Explanation: Chemical substances rich in
nutrients are called fertilizers.

STGAT: Tk gared St dives dedl § o9g 81 €, 32
IS T ST 2l

189. We are able to see an object due to the
presence of:

oW forelt o Y 9 W 3, i 8T Bt 2

a. Light/ Tt

b Dark/ 3ferT

c. Refraction/ 3T9ard=
d. Object/ &g

Explanation: One can see an object in present
of light only. Light will reflect from
the object and incident on our eye andwe
see the object.

TGN & [ohEll I i shaet TemT i 3ufeufa o &
G T 8| THRT I & § WA ST & ST gAR
Ht@ o far 8, a4t a7 9] i @ T 2

190. First menstrual flow is called

g Tk o e HET ST R

a. Menopause/ W=

b. Menarche/ TEIAT

c. Menstruation/ TTfées e
d. Ministration/ 3=T&=
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Explanation: The first menstrual flow s
called menarche. It's a significant milestone
during puberty that marks the start of a
female's menstrual cycle and the ability to
become pregnant.

AT ST HIfbeh @ Sl el 8l T8
fopeiTrarea & R Uk weeaqol Wied 1 g €, S
fe % wiftes =3k i e A mlardt S hr
I ST 2

191. The combustion reaction which occurs on
its own, without any external supply of heat is
called as:

€ & SAAFHAT S 3 o1 et 7, for forelt smedt
FSAT ot AT o6, Tl o

a. Explosion/ feesie

b. Spontaneous combustion/ ¥ 38T
c. Fire/ T

d. Rapid combustion/ @& g&

Explanation: The combustion reaction that
occurs on its own, without any external supply
of heat is called spontaneous combustion. It's
also known as spontaneous ignition.

STEAT: 98 g WA Sit a0 39 Bt &, forr foreft
STEd T Y Safd %, I SFSaeH Fer S 81 36
TSI it gl ST Rl

192. Which of the following is a bad conductor
of electricity?

Teferea 3 & 1 forega st Fereren 82

a. Distilled water/ 3T St
b. Silver nitrate/ faeat A13¢e
¢. Sulphuric acid/ @RI T
d. Copper sulphate/ 9 Gethe

Explanation: Distilled water is a bad conductor
of electricity because it doesn't contain any ions
that can conduct electricity.

SR, TG S forsief 1 37 = Aal
Tk SHH I3 SR el Bid ST forsTelt 7 Ferer
BEY

193. Which of the following metal is stored in
kerosene?

Fraferfea & & forr ang =t gt o e o v ST €2

a. Sodium/ gGifeam

b. Magnesium/ &=ifsrm
c. Phosphorus/ ®E®RH
d. Zinc/ =

Explanation: Sodium is stored in kerosene to
prevent its reaction with air or moisture.
Kerosene keeps it stable and safe from catching
fire.

ST W Saq i KUY T T@T ST @ diieh I8 gar ar
Feft & wifcifsra 7 Y R s feer i eférd e )

194. When sufficient oxygen is not available,
combustion of methane produces gas and
water.

I« gy Ao Iuetey A& Bt 8, A MO F geT |
o ftuft e €

a. Nitrogen/ ATsZIs=

b. Hydrogen/ g1ggis

c. Carbon monoxide/ s HHISTFETES
d. Carbon dioxide/ sl Sr3TaTES

Explanation: When there isn't enough oxygen
available, the combustion of methane produces
carbon monoxide (CO) gas and water. This is
called incomplete combustion.

SAT: 7ol GATH JATrefISH Ut Tl grt, v Hie 1
TET HIe HISTEEES (CO) T 3R It Sea=T st
21 30 3707 T el ST 2

195. Which of the following is made up of
cellulose?
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Frforieaa & & feraen fwior Se@er A g 2?

a. Cell membrane/ =if3TerT fEreett
b. Golgi body/ Tiiesit
c. Chloroplast/ gitd @ash
d. Cell wall/ shifarert frfar

Explanation: Cellulose is a carbohydrate that
makes up the cell walls and woody parts of
plants, as well as some fruits, vegetables and
Cereal.

SEAT: UIAIS Ueh FHIe1e1gge & Sl Urell 6l hifreht
AR R Sl o W, AT & FB Fol, Alosrai 3R
TSI 3T et sar 2

196. The places where animals receive

protection is called:
T T STt STa| ot et ferelt 2, g &:

a. Zoo/ Tafearr

b. National parks/ s e
c. Rock shelters/ St 31

d. None of these/ 378 & IS 7€t

Explanation: A place where animals are
protected in their natural habitat is called
a wildlife sanctuary. Wildlife sanctuaries are
also known as nature conservation areas,
biosphere reserves, or National Park.

SGAT: Teh T &l ST I 3o TTehfeh 3Tamd §
Tfera foram SITam B, 38 S=asilel 3TVR—IuY el STdT &
FIST STTARTT T Yeh(d T &, SaHea AR
&5 T TS Jer oft et ST 2|

197. The method of loosening the soil is called:

firdt 1 drer 0 i SRR R

a. Harvesting/‘Jv‘lilFréhT:'l'a»S
b. Ploughing/ & =TT
c. Leveling/ @qdciishtor
d. Threshing/Tl's’l'st

Explanation: The process of loosening and
turning the soil is called tilling or ploughing.

STEAT: et i ST il SR dete shi SThaT i AT
ESISININ

198. Cloning is a mode of?
FAT U TER AR

a. Sexual production/ &k Isi=

b. Asexual production/ 3T IS
c. Both I and II/ 3T 1 3R 1T

d. None of these/ 398 & IE Tt

Explanation: Cloning is a mode of asexual
reproduction. It is a procedure that creates a
new organism that is genetically identical to
another organism. This process does not involve
fertilization or contact between gametes.

STEAT: FAT Teh YW T AA(Teh ToHT 21 I8 Th
giskar & S g0 wh @ e 3o gar @ S
AR &7 § qHL Sfi o wHE Far 2| 5| ufhr §
firr o e (fefmmoy) & sfter weh s it = g

199. Light passing through a prism splits into
seven colours. This is called?

rem & o W e ww at # fanfor & o 3@
FEQ &

a. Dispersion/ farard=

b. Dissolution/ facia

c. Division/ favsm

d. None of the above/ 3w ¥ & %15 T2t

Explanation: When white light passes through a
prism and splits into seven colours, this is
called dispersion.

STEAT: o HhE T U IS/ & Bt ToRdT & 3R
a1 TN § forrfra &1 Sirar 2, a7 39 fede (Dispersion)
HET 1T 2

200. Thermoplastics can be:
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uieTRE: when heated and destroyed by heating.

a. Never remoulded/ =¥ 9: @TeAT T ST &ehell AT Th THATRES TR Toh TR T ATesh
b. Destroyed by heating/ T & T 78 &1 SITdT & Wm%ﬁﬁWWWQW%ﬁ
c. Non melting/ 7 fuerer o i & 2 & S 2

d. Non-recyclable/ I: =0T I/

Explanation: A thermoplastic polymer is a type
of plastic polymer material that becomes soft
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